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Question Number : 1 Question Id : 7773932301 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the term that will come next in the following series.

'Sunday, Monday, Wednesday, Saturday, Wednesday, Monday, Sunday,
Options :

1. ¥ Sunday

2. % Tuesday

3. # Saturday

4. # Thursday

Question Number : 1 Question Id : 7773932301 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

I U D1 98 BX, Sl HaferRad gaern & spvar e

'Sunday, Monday, Wednesday, Saturday, Wednesday, Monday, Sunday, ,
Options :

1. ¥ Sunday

2. # Tuesday

3. % Saturday

4. ¥ Thursday

Question Number : 2 Question Id : 7773932302 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the missing term in the following series.

FAQ, LGW, RMC, ?, DYO
Options :
1. % VIR
2. % XSI
3. % LSI
4. % MIS

Question Number : 2 Question Id : 7773932302 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAafeRad e & g ug 31 i |

FAQ, LGW, RMC, 7, DYO
Options :
1. # VIR
2. ¥ XSI
3. % LSI




4. = MIS

Question Number : 3 Question Id : 7773932303 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the term that will come next in the following series.

E,G,J,L,0,Q,?
Options :

1.* S

2. % R

3. U

4. ¥ T

Question Number : 3 Question Id : 7773932303 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
I UG &1 99 Dy, Sl FREfeiRad gaer o ST S|

E,G JL,0,Q,?
Options :

l1.* S

2. %R

3.% U

4. ¥ T

Question Number : 4 Question Id : 7773932304 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the wrong term in the following series.

AZ, FU, JP, PK, UF
Options :



1. ® AZ
2. ®* FU
3. # PK
4.+ JP

Question Number : 4 Question Id : 7773932304 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad e & 7ad ue 31d difora?

AZ, FU, JP, PK, UF
Options :

1. % AZ

2. % FU

3. % PK

4. ¥ JP

Question Number : 5 Question Id : 7773932305 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term in the same way as the second term is related to the first term.

Botany : Flora : : Zoology : ?
Options :

1. ¥ Fauna

2. * Biology

3. * Fossils

4. % Pathology

Question Number : 5 Question Id : 7773932305 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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geafa fagm g - Sig fagm : 2
Options :

1. ¢ Siid

2. % Sfiafag™

3. % SiiarRA

4. % QUrdro

Question Number : 6 Question Id : 7773932306 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraffed gy , fdu 7 faswedl § 9 Hefid siarl &1 99+ &< |
TOM :NIG::?:?

Options :

1. ¥ EAT : YUN

2. % EAT : XXM

3. ¥ FAT : LMV
4. % EAT : ZXC

Question Number : 6 Question Id : 7773932306 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related letters from the given alternatives.

TOM :NIG::?:?
Options :

1. ¥ EAT : YUN
2. % EAT : XXM
3. % FAT : LMV
4. % EAT : ZXC



Question Number : 7 Question Id : 7773932307 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related letters from the given alternatives.

SAT : WEX : : MET : ?
Options :
1. *= AQI
2. % IYX
3. ®* FHY
4. ¥ QIX

Question Number : 7 Question Id : 7773932307 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad vy 7, G 7 fasedl o O deiferd sari &1 o ol |
SAT : WEX : : MET : ?

Options :

1. % AQI

2. % IYX

3. ®* FHY

4. ¥ QIX

Question Number : 8 Question Id : 7773932308 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the related number from the given alternatives.

POT : 51 :: HAT : ?
Options :
1. % 47



2. % 58
3. % 36
4.4 29

Question Number : 8 Question Id : 7773932308 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fT T fasbedl # @ Hefid T &1 99 B |
POT : 51 :: HAT : ?

Options :

1. = 47

2. % 58

3. % 36

4.9 29

Question Number : 9 Question Id : 7773932309 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain language “FIVE” can be coded as “5940”, then how will “NINE” be written in that code language?
Options :

1. # 8800

2. % 8820

3. % 7980

4. % 8850

Question Number : 9 Question Id : 7773932309 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS 3T U & "FIVE" @1 "5940" & ¥U & PHfcd [T S Tavdl &, al SuT Pied N H "NINE" H¥ forar s
Options :

1. % 8800



2. ¥ 8820
3. # 7980
4. %= 8850

Question Number : 10 Question Id : 7773932310 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘sky’ is written as ‘tall’, ‘tall’ is written as ‘short’, ‘short’ is written as ‘red’, ‘red’ is written as 'blue' and 'blue' is
written as 'sun'. What is the color of tomato?

Options :
1. # Sky
2. % Tall
3. ¥ Blue
4. * Red

Question Number : 10 Question Id : 7773932310 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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AT P i & =0 § forar Srar 8 8 a1 G & =9 § foral Sra1 g | <HIeR &1 S 1 82

Options :

1. = ANFHH

2. % TN

3. ¢ i

4. % dlcd

Question Number : 11 Question Id : 7773932311 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If HARBOUR is written as ICSDPWS, how is ‘HABITAT’ written in that code?
Options :

1. * ICCKUBU



2. ¥ ICCKUCU
3. # ICCKVCU
4. * IBCKUCU

Question Number : 11 Question Id : 7773932311 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gf& HARBOUR @I ICSDPWS & U H feral Il 7, <l 3% e H HABITAT "o foral STl 82
Options :

1. # ICCKUBU

2. % ICCKUCU

3. *# ICCKVCU

4. = IBCKUCU

Question Number : 12 Question Id : 7773932312 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If in a certain language, GLOW is written as ‘$#@%’ and GIVE is written as ‘$!"*’. How is LOVE written in that language?
Options :

1. ® #@%*

2. ¥ Ha*

3. % #@"$

4. % #IN*

Question Number : 12 Question Id : 7773932312 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe fedt fAfda YT &, GLOW &1 “$#@%* & =0 ¥ foral SITaT 8 3R GIVE &Y <$14+ & T4 H forar Srar g | S 1w #, LOVE &) {59
EEARNICIIGIN.

Options :

1. #® #@%*

2.9 Ha@M*



3. % #@"$
4, % fin

Question Number : 13 Question Id : 7773932313 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

There are seven friends — P, Q, R, S, T, U and V. S is heavier than V. V is heavier than P but lighter than Q. T is heavier than U. R is heavier than
S but lighter than U. S is heavier than only three persons. Who is the 5th heaviest person?

Options :
l.* S
2.%T
3.9Q
4. %V

Question Number : 13 Question Id : 7773932313 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P,Q,R,S,T,USMR VI EHT. S, vHI AT H URI B v, P P o1 H R ¢, AfT Q B AT A GePI 81T, U BT GO H U TIR, S
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Options :
l1.* S
2.% T
3.9Q
4. %V

Question Number : 14 Question Id : 7773932314 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four boys and three girls stand in a row, not necessarily in the same order. If no two girls stand adjacent to each other, then at the most how many
boys can stand together?

Options :

1. ® One



2. % Two
3. % Three

4. % Four

Question Number : 14 Question Id : 7773932314 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. # U
2. % T

3. A
4. % R

Question Number : 15 Question Id : 7773932315 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P, Q, R, S and T sit around a table. P sits second to the left of R and Q sits second to the right of R. If S is not sitting next to Q, who is sitting
exactly between Q and S?

Options :

1. * R

2.¥P

3. T

4. % Both R and P

Question Number : 15 Question Id : 7773932315 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P,Q,R, SR TUH AT & IRI SR ISAZI LR P IS SR A TR VMR TGI8 AR Q, RH IR IR A TR YHAW I3RS, QP
U T A1 R, @1 Q 3R S P UebeH s B 43T 22

Options :



1. ®* R
2.¥P
3.7

4. % R 3R p Ml

Question Number : 16 Question Id : 7773932316 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If A+B means B is the father of A, A*B means B is the wife of A, A-B means B is the sister of A, A+B means B is the son of A. Then in which
of the following given options, A is the sister-in-law of Y?

Options :

I.#* B-M+A~Y-X+R
2.% R-M+A+Y*B=+X
3. Y-A+R-M*X~+B
4. ¥ R-Y-M+X~+B*A

Question Number : 16 Question Id : 7773932316 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfg A+B BT U], B, AU, A*BHT 31 B, B, ABI Uc &, A-BHT 3§, B, ADI 5898, A-BHI I, B, AGT AR Al
frfRad fou e fawedl 3 4 fra fawea &, A, Y ST undi &2

Options :

.¥* B-M+A+-Y-X+R

2. R-M+A+Y*B+X

3. Y+A+R+-M*X~+B

4 Y R+-Y-M+X+B*A

Question Number : 17 Question Id : 7773932317 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Pointing to a photograph, a woman said, “She is the only daughter of my mother’s father.” How is the woman related to the person in the
photograph?



Options :

1. ¥ Mother

2. # Grandmother
3. % Daughter

4. ® Wife

Question Number : 17 Question Id : 7773932317 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS Wil i 3R dhd HRd gU T AfRAT - HgT “Ig B AT & U Y U Gt 87 | 39 Wie! aTal fa o1 Afean I o1 Iaie g |
Options :

1. ¥ |l

2. % qrdl

3. % Tl

4. % gal

Question Number : 18 Question Id : 7773932318 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question below, two statements are given followed by two conclusions numbered I and II. You have to take the given statements to be true
even if they seem to be at variance with commonly known facts. Read all the conclusions and then decide which of the given conclusions
logically follow(s) from the given statements, disregarding the commonly known facts.

Statements:
Some medicines are tablets.
Some medicines are not effective.

Conclusions:
I. Some tablets are effective.
II. No effective is a tablet.

Options :
1. % If only conclusion I follows.
2. % If only conclusions II follows.

3. % If either conclusion I or II follows.



4. % If both conclusion I and II follow.

Question Number : 18 Question Id : 7773932318 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % g ad st [ 3IERU HRT &

2. % g Had (BT 11 SR Fxal g

3. ¢ i a1l Fsm Y 197 11 3FERUI R & |
4. % g Frspy 1 SR 11 TFT SIRT AR B |

Question Number : 19 Question Id : 7773932319 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question below, three statements are given followed by two conclusions numbered I and II. You have to take the given statements to be true
even if they seem to be at variance with commonly known facts. Read all the conclusions and then decide which of the given conclusions
logically follow(s) from the given statements, disregarding the commonly known facts.

Statements:

No leopard is a cheetah.
Some cheetahs are tigers.
All tigers are lions.

Conclusions:



I. Some leopards are not tigers.
II. All leopards are tigers.

Options :

1. # If only conclusion I follows.

2. % If only conclusions II follows.

3. % If either conclusion I or II follows.
4. # If both conclusion I and II follow.

Question Number : 19 Question Id : 7773932319 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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fem:
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Options :

1. % g rad s [ 3ITRU HRAT 8|

2. % T Had F5HY 11 IR0 &l §

3. ¢ gfe a1 Fh Y 1 37 11 SFgER0 BT & |
4. % gie fpy [ SR 11 GFT 3IRRU #d g

Question Number : 20 Question Id : 7773932320 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the question below, three statements are given followed by two conclusions numbered I and II. You have to take the given statements to be true



even if they seem to be at variance with commonly known facts. Read all the conclusions and then decide which of the given conclusions
logically follow(s) from the given statements, disregarding the commonly known facts.

Statements:

Some East are West.
All North are South.
No North is a East.

Conclusions:
I. No South is a East.
I1. All West being North is a possibility.

Options :

1. # If either conclusion I or conclusion II is true.

2. ¥ If neither conclusion I nor conclusion II is true.
3. % If both conclusion I and conclusion II are true.

4. # If only conclusion I is not true.

Question Number : 20 Question Id : 7773932320 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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HY:
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Options :
1. % gie grar ey 1 a7 ey 11 T §
2. ¢ i a @ fAsey 198 s 1 9T Bl



3. % gfe gl fAswy 1 gyt ey 1 9 g |
4. % gie oo FAepy | 9 T8 B
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Question Number : 21 Question Id : 7773932321 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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In the question below is given a statement followed by two conclusions numbered I and II. You have to assume everything in the statement to be
true, then consider the two conclusions together and decide which of them logically follow beyond a reasonable doubt from the information given
in the statement.

Statement: Plants perform photosynthesis during daylight.

Conclusions:
I: Plants have cells in it
II: Plants have various species.

Options :

1. #¥ Only conclusion I follows.
2. % Only conclusion II follows.
3. # Both the conclusions follow.

4. % Neither conclusion I nor conclusion II follows.

Question Number : 21 Question Id : 7773932321 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % PHad FpY | SFIERU Rl 5 |

2. % Had 5HY I1 TR0 HAT B |

3. % FpY [ 3R s 11 GFT SFaRUT % G|
4.« F 1 Freend 1 3R 7 8 fFepd 11 SrRuT e |

Question Number : 22 Question Id : 7773932322 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

In the question given below, two statements are given. There may or may not be cause and effect relationship between the two statements. Mark
your answer using this

Statement I: Rate of crime is very low in this city.
Statement I1: The police is efficient in this city.

Options :

1. ¥ Statement I is the cause and statement II is the effect.
2. ¥ Statement II is the cause and statement I is the effect.
3. % Both the statements are independent causes.

4. % Both the statements are independent effects.

Question Number : 22 Question Id : 7773932322 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % gfe YT | HRUI G 3R HYT [ UHE B |
2. ¢ e HYF 11 HRUT G 3R HYT [ UHTI B
3. % gfe G YT 1 3R 11 Wdd HRUT |
4. % gfe S HYF 1 3R 11 T UHTE g |

Question Number : 23 Question Id : 7773932323 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the missing number from the given responses.

5,10, 13, 26, 29, 58, 61, ?
Options :



1.¥ 122
2. % 125
3. % 128
4. % 64

Question Number : 23 Question Id : 7773932323 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fau 7 faded! & T e H-1 &1 I HR |
5,10, 13, 26, 29, 58, 61, ?

Options :

1.9 122

2. % 125

3. % 128

4. % 64

Question Number : 24 Question Id : 7773932324 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If ‘“+’ means 'X', ‘-> means '+, 'X' means ‘-’ and '+-' means ‘+’, then what will be the value of 16 +4 x 10-5+8 =7
Options :

1. % 12

2.% 8

3.4

4. % 2

Question Number : 24 Question Id : 7773932324 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
G+ BT 3 1, BT S g+, X BT SR 3R+ BT TG+, W 16+ 4 x 10 - 5+ 8 = BT HM FI G
Options :



1. * 12
2. %38
3.4
4, %2

Question Number : 25 Question Id : 7773932325 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Some equations are solved on the basis of a certain system. Find the correct answer for the unsolved equation on that basis.

If 5 x4 x3 =70,
6 x5x4=130
Tx6x5="7

Options :
1. # 210
2.9 220
3. % 230
4. % 240

Question Number : 25 Question Id : 7773932325 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FS THIHR0T U ST Jumell & STUR IR 8 fhT I1d § | S SHTUR W SAs THIBRU & g et SR 1A Hiford |

Tfe 5 x4 x3=170,
6% 5% 4=130
Tx6x5=2

Options :
1. # 210
2.9 220
3. % 230
4. % 240



Question Number : 26 Question Id : 7773932326 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question select the related number from the given alternatives.

17:288::21:440::29:?
Options :
1. # 899
2. % 783
3.9 840
4. % 575

Question Number : 26 Question Id : 7773932326 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fGT T fashedl #  Haifird S &1 7 ol |
17:288::21:440::29:?

Options :

1. % 899

2. % 783

3. ¥ 840

4. % 575

Question Number : 27 Question Id : 7773932327 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which of the following, B > C is definitely true?
Options :

1. #¥ A=C>D<B>G
2.%B=P=C>Q<R=G

3. B=D<A=C<D

4. ¥ C<D=A<B>D



Question Number : 27 Question Id : 7773932327 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFefRea ¥ o fead B> c RfaFud ad &2
Options :

1.¥ A=C>D<B>G

2.# B=P=C>Q<R=G

3. B=D<A=C<D

4. ¥ C<D=A<B>D

Question Number : 28 Question Id : 7773932328 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify the diagram that best represents the relationship among classes given below.

Iron, Hydrogen, Aluminum
Options :

g |© (@

3. ¢




&

Question Number : 28 Question Id : 7773932328 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 3RNT &l Uga™ ol A fu 7u it & ot dee o1 ey a1 ufafafda sar gl
dIgl, gIseroH, Tegi=ay

Options :
1. %
2. #

OO
3. ¢ O
4, %

Question Number : 29 Question Id : 7773932329 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

In the given diagram, Circle A represents Football players, Circle B represents Cricket players and Circle C represents Hockey players. Which
portion represents the Cricket players who are only Football players?

Football Players Cricketer

Hockey Player

Options :
1. %8
2. % 7
3.¥ 4
4. % 6

Question Number : 29 Question Id : 7773932329 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f3U 7T 3G H, I A Pedid Ryarsal &1 gfafia -l 5, 31 B fhde Raantsal &1 ufafAfia war g Sk 9 ¢ gie! Raantsal &
gfafferca war g | HF-a1 few fhdre Raanfsal &1 ufafficd ordl ¢ St had Fedid Rl g2

&

o

gicht faremmsY
Options :
1. %8



2.% 7
3.¥ 4
4. % 6

Question Number : 30 Question Id : 7773932330 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify the diagram that best represents the relationship among the given classes.

Silver, gold, jewellery
Options :

@

2. % ©O
=




Question Number : 30 Question Id : 7773932330 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I 3RT BT I B3 ol feT T a1t A Ifyd Jayy <far |

Options :

©>

2. % ©O
=




Question Number : 31 Question Id : 7773932331 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify the diagram that best represents the relationship among the given classes.

Professional, Singer, Women
Options :

1. ¢

QDO

4, %

Question Number : 31 Question Id : 7773932331 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fa e oI & i Tael B IR TP B TR B a1d 3RG B! Ug=ni- |
U, M, Aiga

Options :

QDO

Question Number : 32 Question Id : 7773932332 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify the diagram that best represents the relationship among the given classes.

Gas, Helium, Aluminium, Oxygen



Options :

3 ®

2.¢

©

3. %

©
©

Question Number : 32 Question Id : 7773932332 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f&d T vt & ST Yool o) SgdR dRid I TR B3 ardl 3G 1 g3 |

Options :

(9

1. ®




2.¢

Question Number : 33 Question Id : 7773932333 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Lokesh’s school bus is facing North when it reaches his school. After starting from Lokesh’s house, it turns right twice and then left before
reaching the school. What direction was the bus facing when it left the bus stop in front of Lokesh’s house?

Options :
1. # North
2. # South
3. % East
4. ¥ West

Question Number : 33 Question Id : 7773932333 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR BT Wpel 59 od 3P Whel Ugddi g, dl o BT HE Ik BI 3R Il g| THob & TR Y I & J1e, 99 &l SR & JSall g 3R Tpal
Ugd- ¥ Ugd aT¢ Sl &, df ARl o TR & JHH ald 89 Wi I I & d1G 99 &1 79 fq 3R U1

Options :
1. % JaiR




2. % e

3. % 79

4. ¢ UigH

Question Number : 34 Question Id : 7773932334 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Three positions of a cube are given. What will come opposite to the face containing ‘A’?

Options :
1. % B
2. % C
3.D
4. % E

Question Number : 34 Question Id : 7773932334 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS I &1 I R ot Rufeai 715 81 A & faudia s s

Options :
1.* B
2.% C



3.¥D
4. % B

Question Number : 35 Question Id : 7773932335 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the figure that will come next in the following series.

A2 1Al C|

Options :
1.¢

)
2. %

3. %




<

Question Number : 35 Question Id : 7773932335 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I 3T DT g9 DX S FRgferiRad gaar o sm et

A2 1Al C|

Options :

v

O|




&

<

Question Number : 36 Question Id : 7773932336 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question three out of the given four figures are similar in a certain way and hence form a group. Find the one which does not
belong to that group.

Options :




Question Number : 36 Question Id : 7773932336 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad we & fou U IR sipfastt & @ o9 T ffda Tid I T0M § SR 3U0T Te THg §91d ¢ | off 39 I4g ¥ Faftid =181 g, 3T
T FIfoA?
Options :




Question Number : 37 Question Id : 7773932337 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many triangles are present in the given figure?

Options :
1. %6
2. % 8
3.9
4. % 12

Question Number : 37 Question Id : 7773932337 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A M@ H fpam Bye SufRua 32



Options :
1. %6
2. %8
3.9
4. % 12

Question Number : 38 Question Id : 7773932338 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which one of the answer figure shall complete the given question figure.

> X B

Options :




4.9

Question Number : 38 Question Id : 7773932338 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SR PRI & DIF-HT PRI & TS T=A P B G H-

> X B

o0

Options :




N 7

4.9

Question Number : 39 Question Id : 7773932339 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Find out from amongst the four alternatives as to how the pattern would appear on the sheet when the sheet is folded at the dotted line and is
punched as given.

Options :
4
1.¢
L =]
2. % =



Question Number : 39 Question Id : 7773932339 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gﬂ;ﬂﬂﬁﬁﬁﬁg%@ﬂﬁ@ﬁﬁ%ﬁ?ﬁﬁﬂ%ﬁ%a@wwmmaa‘rﬁmm%n? el & A DIH-91 U yefia

Options :
4
1. v
L=
2. 8% L=
olo
o
D
3 % o|o




Question Number : 40 Question Id : 7773932340 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, choose the correct mirror image of the figure, from amongst the four alternatives.

2]

sah,

Options :

g
2
3

3. ¢



LAY

Q

Question Number : 40 Question Id : 7773932340 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofiad uy & fou v IRt el # 3 fom & 98t <dur ufafss &1 T &1

O

s,

Options :

M

=

g
2
3

3. ¢
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Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In which year was the Jaisalmer Fort built?
Options :

1. % 1213 AD

2. % 1156 AD

3. % 1102 AD

4. % 1079 AD

Question Number : 41 Question Id : 7773932341 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SIRICTHR &1 foett forg 8 & ST 7T T
Options :

1. % 1213%.

2.¥ 1156 5.

3. % 1102%.

4. % 1079%.

Question Number : 42 Question Id : 7773932342 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which of the following states is the Nishagandhi dance festival held?
Options :

1. # Karnataka

2. ¥ Kerala

3. ® Maharashtra

4. ¥ Tamil Nadu

Question Number : 42 Question Id : 7773932342 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fr=miedt T Sra FafaRad & 9 fora s & smaford fasa Smar g2
Options :

1. % HleH

2. ¥ B

3. % AGRIY

4. % qHd g

Question Number : 43 Question Id : 7773932343 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which of the following architectural styles were the monasteries of Nalanda built?
Options :

1. % Mauryan

2. ¥ Kushana

3. % Chola

4. % Rashtrakuta

Question Number : 43 Question Id : 7773932343 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofRad # @ fora Riue et # A1ciar & H7aT &1 fafur i mar
Options :

1. % O

2. ¥ DU

3. % T

4. ® IMHC

Question Number : 44 Question Id : 7773932344 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is the original name of the musical instrument 'Damru'?



Options :
1. ¥ Udukai
2. # Pena
3. % Sambal
4. # Pakhvaj

Question Number : 44 Question Id : 7773932344 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafaRad § ¥ S 91 9 39 SHE &1 Hd A1 82
Options :

1. v IgP

2. % O

3. % g9d

4. % gQdis

Question Number : 45 Question Id : 7773932345 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

With which dance-form is Kelucharan Mohapatra associated?
Options :

1. # Kathak

2. % Bharatnatyam

3. % Manipuri

4. ¥ Qdissi

Question Number : 45 Question Id : 7773932345 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
S AR HETITH fhY TI-F9 ¥ Jwiferd g2

Options :




1. ® HyDh
2. % WRAIIRIH

3. % AGH
4. ¢ NS

Question Number : 46 Question Id : 7773932346 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which of the following years was the Reserve Bank of India (RBI) Act, 1934 was amended to provide a statutory basis for the implementation
of the flexible inflation targeting framework?

Options :
1. % 2015
2.% 2016
3. % 2017
4. % 2018

Question Number : 46 Question Id : 7773932346 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR ReTd d (3Retes) sififam, 1934 & fFofaied # @ foy adf & weiich arwifa aedfiexur i & srafagd & e te dufe
YR Y& HR o o d=ne fovan mar 4

Options :

1. % 2015

2.¢ 2016

3. % 2017

4. % 2018

Question Number : 47 Question Id : 7773932347 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following services can't be considered as a basic service?
Options :



1. # Hospitals
2. % Tourism
3. % Banking
4. ¥ Defence

Question Number : 47 Question Id : 7773932347 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFofaied # © D=l a1 gt dar el 82
Options :

1. # 3AYdIlc]

2. ¢ QA

3. % dfdT

4. % ygfcRaf

Question Number : 48 Question Id : 7773932348 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many digits are there in the Indian Financial System Code?
Options :

1. %9

2. %10

3.¥ 11

4. % 12

Question Number : 48 Question Id : 7773932348 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YR farcita gomet wfgdn & fban i gld 82
Options :

1. %9



2. %10
3.¢ 11
4. % 12

Question Number : 49 Question Id : 7773932349 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What amount has been approved for the Jal Jeevan Mission in the Union Budget 2020?
Options :

1. ¥ Rs. 3.60 lakh crore

2. % Rs. 4.80 lakh crore

3. # Rs. 3.90 lakh crore

4. # Rs. 2.60 lakh crore

Question Number : 49 Question Id : 7773932349 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

He goTe 2020 H O Sita fE & forg fra=h iRy ot verd) & 718 82
Options :

1. ¢ 3.60 IR RIS ST

2. % 4,80 ARG BRIS ST

3. % 3.90 ARG PRIS T

4. % 2.60 ARG PRIS TYY

Question Number : 50 Question Id : 7773932350 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As per the Union Budget 2020, how many station re-development projects will be undertaken?
Options :

1.¥ 4

2.% 5



3.%6
4. %7

Question Number : 50 Question Id : 7773932350 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DS FoIe 2020 & AT [ WA DI GBI YRATSITE BT IaTa [ S
Options :

1.¥ 4

2.% 5

3.% 6

4. % 7

Question Number : 51 Question Id : 7773932351 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following features are same if two elements are isobars?
Options :

1. ¥ Mass number

2. % Atomic number

3. % Valency

4. % Number of electrons

Question Number : 51 Question Id : 7773932351 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

¢ &1 I AU gu <) Fafoied # 9 &1 9 faRiyar 99 grf
Options :

1. ¢ GoOH I3

2. % UIH] G=AT

3. % YTl



4. % A DI J=AT

Question Number : 52 Question Id : 7773932352 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following chemicals is present in bleaches used in household laundering and sanitizing?
Options :

1. * Potassium permanganate

2. % Sodium hypochlorite

3. % Sodium hydroxide

4. % Calcium carbonate

Question Number : 52 Question Id : 7773932352 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafad # @ I I I W gl iR AFergion & IuanT 81 arel sefia & Sufid 2
Options :

1. % OrRRm R

2. ¥ AfeTH gRUIRIRIZS

3. % Oifeuy gIegiRs

4. % BfcRq FHIEMHC

Question Number : 53 Question Id : 7773932353 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following are known as the 'amphibians of the plant kingdom'?
Options :

1. # Thallophyta

2. ¥ Bryophyta

3. # Pteridophyta

4. % Angiosperm



Question Number : 53 Question Id : 7773932353 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRad o ford arey ol & IUTER' & 19 & Ht 11 911 82
Options :

1. % JeAmTRC

2. ¢ SRIBIRC

3. % ASIHIgal

4. % Gforaread

Question Number : 54 Question Id : 7773932354 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which of the following cases are sonic booms produced?

Options :

1. ¥ When sound waves travel from lighter to denser medium.

2. % When an object travels at a speed more than the speed of sound.
3. ¥ When an object enters the ionosphere.

4. % When an object travels at the speed of light.

Question Number : 54 Question Id : 7773932354 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed 8§ 9 foy fRufa & i s Saa gid g2
Options :

1. % S @i a1 b q Y° HIegH db St g |

2. ¥ Tq DI a%] @ P TR TS 1T T A el 5 |
3. % 59 I3 g SMUTHSA H Ja Hal g |

4. % 9 DTS I YD DI A T B 6 |




Question Number : 55 Question Id : 7773932355 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is a staphylococci?
Options :

1. ¥ Bacteria

2. # Virus

3. ¥ Protozoa

4. % Fungi

Question Number : 55 Question Id : 7773932355 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
KBTRAD BT MHfeRad § J 1 572

Options :

Question Number : 56 Question Id : 7773932356 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the total length of the coastline of India including the Andaman islands and the Lakshadweep islands?
Options :

1. % 7516.6 km

2. % 7208.7 km

3. % 7345.8 km

4. ¥ 7524.6 km

Question Number : 56 Question Id : 7773932356 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

S g0 3R T&4IY g0 THg Aled HRA & THS d¢ &1 $d adTs (a1l 62
Options :

1. ¥ 7516.6 T el

2. % 7208.7 fob Hl.

3. % 73458 fopult

4. % 7524 6 Tobeil

Question Number : 57 Question Id : 7773932357 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the literacy-rate of the country as per the Census 2011?
Options :

1. # 79.61 percent

2. # 75.46 percent

3. % 74.04 percent

4. % 71.23 percent

Question Number : 57 Question Id : 7773932357 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2011 I STFRTUAT & SFJAR G 1 AIERT & FT 62
Options :

1. % 79.61 Ufd=rd
2. % 7546 Ufa=Id
3. ¢ 74.04 Ufa=rd
4. % 7123 gfa=rd

Question Number : 58 Question Id : 7773932358 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following rivers is smallest?
Options :

1. # Godavari

2. % Narmada

3. # Indus

4. % Kaveri

Question Number : 58 Question Id : 7773932358 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ol @ 3 gad aIct 94 S 82
Options :

1. % Tera

2. % THa

3. % Ry

4. BIRY

Question Number : 59 Question Id : 7773932359 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafofed o § fed easTel= AR & U & ST ST 82
Options :

1. % JTR-UYH G

2.« GRU-UiEH A

3. % JW-Yd AFYA

4. % CIEU-gd ARG

Question Number : 59 Question Id : 7773932359 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is known as the Summer Monsoon?



Options :

1. # North-west Monsoon
2. ¥ South-west monsoon
3. % North-east monsoon

4. % South-east monsoon

Question Number : 60 Question Id : 7773932360 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following time duration matches with the reign of Sher Shah Suri?
Options :

1. ¥ 1526-30

2. % 1530-35

3. ¥ 1540-45

4. % 1556-61

Question Number : 60 Question Id : 7773932360 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR M P & AT J FHRRed & 9 &F 91 994 3afy O 3 @1l 82
Options :

1. % 1526-30

2. % 1530-35

3. ¥ 1540-45

4. % 1556-61

General Awareness2

Group Number : 4
Group Id : 77739323

Group Maximum Duration : 0



Group Minimum Duration : 0

Show Attended Group? : No
Edit Attended Group? : No
Break time : 0

Group Marks : 20
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General Awareness2
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Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
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Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 7773932361 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who out of the following had given the statement - "Give me blood and I shall give you freedom"?
Options :

1. % Mahatma Gandhi

2. % Jawaharlal Nehru

3. % Netaji Subhash Chandra Bose

4. % Sardar Vallabhbhai Patel

Question Number : 61 Question Id : 7773932361 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
fFrafaRad o 9 a8 & foem faan o - 'qa g2 g &l SR & @ SiTomre g
Options :

1. % T Treht

2. % S[ATERATA 8%

3. ¢ el GUY T a9

4. % TRER IEAHHTS Ued

Question Number : 62 Question Id : 7773932362 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Between which two rivers was the kingdom of Porus present?
Options :

1. # Ravi and Chenab

2. ¥ Jhelum and Chenab

3. % Sutlej and Beas

4. % Ravi and Sutlej

Question Number : 62 Question Id : 7773932362 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T3 1 1o BI-4 & el & site fRyd ur?
Options :

1. % 3t 3R =T

2. ¢ A 3R G

3. % gl 3R 9319

4. % 7Y 3R ool

Question Number : 63 Question Id : 7773932363 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Who out of the following was the leader of the Huns, who had annexed a large part of the Gupta empire?
Options :

1. ¥ Yashovarman

2. # Baladitya

3. # Mihirakula

4. % Toramara

Question Number : 63 Question Id : 7773932363 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

PR & & 35 5ol a1 3, R T Srered 3 T 92 R W dea fbar an
Options :

1. % gNqHA

2. % qralcd

3. % fofgRepd

4. ARMRI

Question Number : 64 Question Id : 7773932364 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who out of the following is the current Chief of Air Staff in India?
Options :

1. # Air Marshall B S Dhanoa

2. % Air Marshall R K S Bhadauria

3. % Air Marshall Karambir Singh

4. # Air Marshall H S Arora

Question Number : 64 Question Id : 7773932364 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFraffed ¥ B HRd & 97 A1 $ TdHH T &

Options :



1. % TOR AT o T g3
2. ¢ TR HIN 3R & T Heilar
3. % TR ARG HAaR g
4, % TR HIRA T T 3RIST

Question Number : 65 Question Id : 7773932365 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who is the author of the book "A Suitable Boy"?
Options :

1. ¥ Vikram Seth

2. % Salman Rushdie

3. # Chetan Bhagat

4. ¥ Khushwant Singh

Question Number : 65 Question Id : 7773932365 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T eud 819 T & A B g2
Options :

1. ¢ fashH 93

2. % FAHM IRG!

3. % T W

4. % Qrrdd g

Question Number : 66 Question Id : 7773932366 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who out of the following is the President of Syria?
Options :

1. ¥ Mahmoud Ahmadinejad



2. % Bashar al-Assad
3. #¥ Mohammad Javad Zarif
4. % Ali Khamenei

Question Number : 66 Question Id : 7773932366 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e & & @ Wik & 1t 2
Options :

1. % HgHG 3eHIINNIG

2. ¢ JRR 3 - g

3. % HIgHIE SfaTg St

4. % 3redl GHHAT

Question Number : 67 Question Id : 7773932367 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

On which day was the Nari Shakti Puraskar awarded by the President?
Options :

1. # March 6th

2. % March 7th

3. % March 8th

4. ¥ March 9th

Question Number : 67 Question Id : 7773932367 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TR} RfeR] REPR fob g a1 yufal grT uer fobam ma

Options :

1. % 6 H &I
2. % 7HE B



3. 8 AR B
4. % 9 U &I

Question Number : 68 Question Id : 7773932368 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who out of the following has been appointed as the Executive Director of Union Bank of India?
Options :

1. ¥ Birupaksha Mishra

2. % Rajeev Talpade

3. # Devola Devi Das

4. ®# Mahavir Kaushik

Question Number : 68 Question Id : 7773932368 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e # 3 frd gfam S 3ifp 3fsar & srfer) fewe & wu § fged fear mar g2
Options :

1. ¢ fowaer fors

2. % oid dAus

3. % Gdlell gdl g

4. % TGAR DIR®

Question Number : 69 Question Id : 7773932369 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following days was celebrated as the World Chagas Disease Day?
Options :

1. ¥ April 14th

2. % April 15th

3. % April 16th



4. % April 17th

Question Number : 69 Question Id : 7773932369 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafea o 9 few foa & fay 9 I iiaw & =9 & J4man Sirar 4
Options :

1. ¥ 14 30

2. % 15 30

3. % 16 30d

4. % 17 3Ud

Question Number : 70 Question Id : 7773932370 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following states has become the first to ban pan masala during 21 days of lockdown period?
Options :

1. ¥ Uttar Pradesh

2. % Madhya Pradesh

3. % Gujarat

4. ¥ Mabharashtra

Question Number : 70 Question Id : 7773932370 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Faffad & 9 & 91 I didbersy & 21 &7 & o oM v1a R ufdee T aTel UgdT I §4 771 22
Options :

1. ¢ IR UK
2. % U
3. % ToRId
4. % HBRIY




Question Number : 71 Question Id : 7773932371 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What amount was pledged by India in the SAARC COVID-19 Emergency Fund as an initial contribution?
Options :

1. # USD I million

2. % USD 5 million

3. % USD 7.5 million

4. % USD 10 million

Question Number : 71 Question Id : 7773932371 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T HIAS-19 ATITT BT H YR gRT URIHG TN F T H fha-T i & 18 oo
Options :

1. % | ffera sl STeR

2. % 5 fferg et STeR

3. % 7.5 foferge SRt STeR

4.+ 10 ORI ST STeR

Question Number : 72 Question Id : 7773932372 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which of the following places was the Wings India 2020 held?
Options :

1. # Bengaluru

2. ¥ Hyderabad

3. # Kolkata

4. # Delhi

Question Number : 72 Question Id : 7773932372 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fFafefad ® O foog wi= W= fdw gfsar 2020 maifora feear ar U
Options :

1. % SIS

2. ¥ BRIEG

3. % BHIABIA

4. % fooolt

Question Number : 73 Question Id : 7773932373 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following articles of the Indian Constitution empowers Parliament to provide by law for continued use of English for official
purposes?

Options :

1. * 343(1)

2. % 340(2)

3. ¥ 343(3)

4. % 345(4)

Question Number : 73 Question Id : 7773932373 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRTT Ay & Fofaled & 9 &F a1 sifwse 99e &I ifeie 3=l & e sisht & fARaR SUdT & oIt &1 UaM &R &1
fYBR a1 82

Options :

1. % 343(1)

2. % 340(2)

3. v 343(3)

4. % 345(4)

Question Number : 74 Question Id : 7773932374 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

By which constitutional amendment was Puducherry made a Union Territory?
Options :

1. % 12th

2. % 13th

3. ¥ 14th

4. % 15th

Question Number : 74 Question Id : 7773932374 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ggorl &1 g HaeT-e SR gRT s AR o= ST 747 Y12
Options :

1. % 12df

2. % 137

3.9 144l

4. % 1591

Question Number : 75 Question Id : 7773932375 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

On which day was the Supreme Court of India inaugurated?
Options :

1. % January 26th, 1949

2. % January 28th, 1949

3. # January 26th, 1950

4. % January 28th, 1950

Question Number : 75 Question Id : 7773932375 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



YRA & i AT 1 3gaTeH s G- gaiT T
Options :

1. % 26 SFARY, 1949

2. % 28 TFARY, 1949

3. % 26 SHARY, 1950

4. ¢ 28 SHARY, 1950

Question Number : 76 Question Id : 7773932376 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a Non-Constitutional body?
Options :

1. ¥ NITI Aayog

2. # Special Officer for Linguistic Minorities

3. # Election Commission

4. % Attorney General of India

Question Number : 76 Question Id : 7773932376 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFrafifad # 9 oIF a1 T IR-Aaues e g2
Options :

1. « Hifd ST

2. % UTNTS U] & forg [aRY Sfferepri

3. % A9 NT

4. % YRd & HEHIIATS]

Question Number : 77 Question Id : 7773932377 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In which of the following countries is the Cricket stadium The Oval situated?



Options :

1. ¥ England

2. # Australia

3. % New Zealand
4. # South Africa

Question Number : 77 Question Id : 7773932377 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefad 7 fea dx o fbde ¥iean g shiad fRud g2
Options :

1. ¥ s

2. # 3ffecfer

3. % gofiavs

4. % TI&TUT 3{TpIehT

Question Number : 78 Question Id : 7773932378 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeied o 9 ford Ta o a1y A3 =R &1 ey g2
Options :

1. % fohobe

2. % gefHed

3. % 29

4. ¥ Pdid

Question Number : 78 Question Id : 7773932378 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
With which of the following games is Manuel Neuer related to?
Options :



1. #* Cricket
2. * Badminton
3. #* Tennis

4. % Football

Question Number : 79 Question Id : 7773932379 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following tournaments does the team Dabang Mumbai play in?
Options :

1. # Indian Premier League

2. # Indian Super League

3. % Hockey India League

4. # Pro-Kabaddi League

Question Number : 79 Question Id : 7773932379 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& qeT gais Fafdiad § Q fg e o werdl 82
Options :

1. ® 3fga diftrR ofi

2. % g R @l

3. ¢ il Sfear il

4. % YLpagl AN

Question Number : 80 Question Id : 7773932380 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

With which of the following games is Climax Lawrence associated?
Options :

1. # Hockey



2. % Football
3. # Badminton

4. % Tennis

Question Number : 80 Question Id : 7773932380 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FATSHR IRy FafaRed # 9 fra ea 4 98 &
Options :
1. % glepb!
2. ¢ Bedid
3. % qgfifed
4. % ¢frg
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Question Number : 81 Question Id : 7773932381 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the least number which when divided by 12, 16, 8 and 15 leaves a remainder 5, but when divided by 11 leaves no remainder?
Options :

1. % 1100

2.9 1925

3. % 7436

4. % 2684

Question Number : 81 Question Id : 7773932381 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T BIC A BIC BT T S 12, 16, 8 3R 15 ¥ fIUIRId 89 R AWHa 5 St 7, Al 11 ¥ fuIiid 9 IR W a =g ot 2
Options :

1. % 1100

2.9 1925

3. % 7436

4. % 2684

Question Number : 82 Question Id : 7773932382 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Simplify the following expression by using BODMAS.

106 + [64 — 2{18 + (of 80)}]

Options :
1. %0
2. % 1
3.6
4, %5

Question Number : 82 Question Id : 7773932382 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafRad THIHRU & BODMAS &1 SUTNT HRPb TIRd Difold |

106 + [64 — 2(18 + (80 2 )}]

Options :
1. %0
2. % 1
3.6
4, %5

Question Number : 83 Question Id : 7773932383 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the second largest fraction from the following.

5/13, 8/19, 3/12, 7/14
Options :
1. % 5/13
2.9 8/19
3. % 3/12
4. % 7/14



Question Number : 83 Question Id : 7773932383 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferiRad & 9 gavT 9o 91 fia I1d Pifoe|

5/13, 8/19, 3/12, 7/14
Options :
1. ® 5/13
2.9 8/19
3. % 3/12
4. % 7/14

Question Number : 84 Question Id : 7773932384 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The six-digit number 79687X is exactly divisible by 9 where X is a single digit whole number. Find the value of X.
Options :

1. %0

2.% 7

3.%9

4.9 8

Question Number : 84 Question Id : 7773932384 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

6 ST WA 79687X, 9 J ufa: fauTsd & 5181 X T 3id1a Yol W& g | X A 31d Piforg |
Options :

1.* 0

2.% 7

3.%9

4. ¥ 8



Question Number : 85 Question Id : 7773932385 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ifi—;1 - %[x - %] = — ? then the value of x is:
Options :

1.9 -3

2.%3

3.% 6

4. % -6

Question Number : 85 Question Id : 7773932385 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
14 1 7 2x
Z[ﬁ"{?+5[x— 5] = —?‘,fﬁ X & AT A1 Hifew
Options :
1. ¥ -3
2.%3
3.% 6
4. % -6

Question Number : 86 Question Id : 7773932386 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The average age of 10 members in a family is 21 years, but due to death of one family member, the average age is reduced by 2 months. The age
of the member who died is:

Options :
10
| w 2077 years



- 2{]; years

3¢ 22; years

19 i years
4, %

Question Number : 86 Question Id : 7773932386 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gtrﬁag%mm%ﬁﬁeﬁw&mzl I 7, Aftr1 URaR & U Yo &t §g & 918 39d 31 H & Hel-1 ! HHI g1 ol & | Jd g
3 &:

Options :
10

20E

1. =

20= a4
2. % “73

221 9§
3.4 “€2

19§aﬁf

4. %

Question Number : 87 Question Id : 7773932387 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The average of 11 numbers is 30, The average of first five numbers is 24 and the average of last three number is 13.33. If 6th number is 11 and 9
less than 7th and 8th number respectively, then what will be the 7th number ?

Options :



1. # 50
2. %59
3. ¥ 61
4. % 60

Question Number : 87 Question Id : 7773932387 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

11 TRemaff &7 3IId 30 § | ISl Urd TRemaft &1 3fd 24 3R sifaw diF TRemaft &1 afd 13.33 7 | afe 3 TReam shuer: radi aut
3T AT 11 TUT9 HH &, dl Wiad| ST o1 gt 2

Options :

1. % 50

2. % 59

3. ¥ 61

4, % 60

Question Number : 88 Question Id : 7773932388 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A Salesman gets 10 percent commission on total sale. He also gets 4 percent extra bonus on more than Rs. 20000 sale. If his total income is Rs.
4240, then find the value of total sale.

Options :

1. * Rs. 39,500
2. % Rs. 40,000
3. ¥ Rs. 36,000
4. * Rs. 46,000

Question Number : 88 Question Id : 7773932388 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP TR Hd [ehT TR 10 UII=IG &7 999 UTed BT @ | 98 20000 F SIS Dt fagw! i iR Ht sifafkad 4 vfa=rd 999 urg srar 8|
e DT T 4240 FU § <l H foeh! JT DI




Options :

1. % 39,500 0L
2. % 40,000 0
3. ¢ 36,000 3T
4. % 46,000 30

Question Number : 89 Question Id : 7773932389 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the arithmetic mean of 6a and 8b is greater than 100 and a is four times of b, then find the smallest possible positive integer value of a.
Options :

1. % 28

2.9 26

3. % 32

4. % 24

Question Number : 89 Question Id : 7773932389 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g 6a 3R 8b BT BV L 100 T TST BT 3R 2, b A TR AT G, Al 2 BT TG BIT YT Y-S Ul A 1A HIFOTT |
Options :

1. % 28

2.9¥ 26

3. % 32

4. % 24

Question Number : 90 Question Id : 7773932390 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A and B are dealers of Audi cars. The price of a car is Rs. 28,00,000. A gives a discount of 10 percent on the whole, while B gives a discount of
12 percent on the Rs. 20,00,000 and 8 percent on the rest. What is the difference between their selling prices?

Options :



1. ¥ Rs. 24000
2. #® Rs. 42000
3. ¥ Rs. 64000
4. % Rs. 46000

Question Number : 90 Question Id : 7773932390 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A 3R B TS PR F SR B | T BR BT Hed 28,00,000 T T 1 A T TS W 10 =T BT e SaT & Sl B, 20,00,000 T TR 12
TTRId TUT Y TR 8 U= &1 Fe a1 g | 3% faehd Jedl BT 3R 31 /7

Options :

1. ¢ 24000 3T

2. % 42000 3T

3. % 64000 3T

4. % 46000 3T

Question Number : 91 Question Id : 7773932391 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A costs 10 percent more than B, B costs 20 percent less than C, C costs 30 percent more than D. A costs nearly:
Options :

1. # 16 percent more than D

2. % 14 percent less than D

3. % 20 percent more than D

4. ¥ 14 percent more than D

Question Number : 91 Question Id : 7773932391 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A DI BIAD B I 10 Ufdwd 3fUH 8, B Bt HIAd C ¥ 20 YA HH T, C Bt HIAD D I 30 UFGRIT 31D §1 A BT HHHT TTHI &

Options :



1. % DY 16 Ufawid 3ifdew
2. % DY 14 Ufad HH

3. % D Y 20 Ufa=rd 3ifdd
4.+ DY 14 9w Y&

Question Number : 92 Question Id : 7773932392 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A person bought an item and sold it at a loss of 8 percent. If he had bought it for 15 percent less and sold it for Rs. 270 more, he would have had
a profit of 20 percent. Find the cost price of this item.

Options :

1. ¥ Rs. 2400
2. % Rs. 2700
3. % Rs. 2000
4. % Rs. 3000

Question Number : 92 Question Id : 7773932392 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS Afad U a¥g WRIGAT 5 AR I 8 U=Id 81 IR d9rdl g | AfG a8 I 15 Uii=d 0 Jod IR WRiedl 3R 270 ¥ HYH W Sadi ot
I 20 UIA=TA BT Y BIT | g DT I JATd BT |

Options :

1. % 2400 TG

2. ¥ 2700 ST

3. % 2000 30

4. % 3000 39

Question Number : 93 Question Id : 7773932393 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In an election only two people contested M and J. 20 percent voters didn't vote and 1400 votes were declared invalid. M got 9800 more votes
than J and got 52 percent votes of total registered voters. Find the percentage of votes secured by J out of total registered voters .



Options :

1. # 2 percent
2. % 24 percent
3. % 27 percent
4. % 29 percent

Question Number : 93 Question Id : 7773932393 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP A & dHad al arll M 3R 1 = A1 dSTI 20 UiA=Id Adardish 5 AaeH el a1 3R 1400 T 3¢ 9t fahd T M &1 T 9800
3T die et 3R ot Uslipd Aaerarsii &1 52 Uia=rd die Wi {1 $a Uelird Adararsdl # ¥ J gRTUTE Hdl &1 Ufa<id J1d Sifoe |

Options :

1. % 2 gfa=rd
2. ¢ 24 YfaRrd
3. % 27 gfawrd
4. % 29 gfaerd

Question Number : 94 Question Id : 7773932394 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sells a good to B at a profit of 20 percent and B sells it to C at a profit of 25 percent. If C pays Rs. 960 for it, what was the cost price for A?
Options :

1. # Rs. 600

2. % Rs. 625

3. ¥ Rs. 640

4, ® Rs. 720

Question Number : 94 Question Id : 7773932394 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A Tt axg &1 B & 20 UFA=IG @Y TR 997dl 8 94T B S C BT 25 TR Ay 0 59dl 5| afG € S AT 960 B ST T Sl § < A
o foe a geg favd= um




Options :

1. % 600 39U
2. % 625300
3. ¢ 640 T
4. % 720 309

Question Number : 95 Question Id : 7773932395 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

We have two solutions of milk and water S1 and S2. The ratios of milk and water in S1 and S2 are 2 : 3 and 4 : 5 respectively. These two
solutions are mixed in the ratio 6 : 7 and this new solution is then sold at Rs. 30 per litre. If cost price of pure milk is Rs. 40 per litre, then what is
the profit percentage? (Assume that water comes free of cost.)

Options :

1. # 72 percent

2. # 71.68 percent
3. % 70.83 percent
4. ¥ 74.375 percent

Question Number : 95 Question Id : 7773932395 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR U1 g 3R U1 & & faaa S1 3R S2 €1 S1 3R S2 & G 3R UTHT T U ShHRT: 2: 3 3R 4 : 5 5| G [AerdA Bl 6 : 7 P U
o QTR T a1 faarae o1 TR 3R S 30 $U3 Ui Titer o1 & I o AT 3fe Y g BT 96 Jod 40 IO Ufd dilex g, o a1y
yfr=rd 1 82 (U8 A g¢ % Ui 4w B)

Options :

1. % 72 ufa=rd

2. % 71.68 UlA=Id

3. % 70.83 UfdId

4. 74.375 Ufa=IG

Question Number : 96 Question Id : 7773932396 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

By selling 112 m of cloth a merchant gains the cost of 48 m of cloth. Find his gain percent.
Options :

1. ¥ 42.86 percent

2. % 46.86 percent

3. % 52.86 percent

4. % 56.86 percent

Question Number : 96 Question Id : 7773932396 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP MR BT 112 Hie? HUST 9a W 48 e UG & T Hed & SRR ATH U Bial 3 | SP Y 1 Uia=rd F1d Bifr|
Options :

1. ¢ 42.86 Ufa=Id

2. % 46.86 Ufa=rd

3. % 5286 Ufa=rd

4. % 56.86 Ufd2Id

Question Number : 97 Question Id : 7773932397 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sumitra sold a pen and a pencil for Rs. 100 and got a profit of 20 percent on the pen and 80 percent on the pencil. If she sells a pen and a pencil
for Rs. 130 and gets a profit of 80 percent on the pen and 20 percent on the pencil, then what is the total cost (approximate) of both pen and
pencil?

Options :

1. # Rs. 65
2. % Rs. 90
3. % Rs. 70
4, ¥ Rs. 77

Question Number : 97 Question Id : 7773932397 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

AT A T O 3R U GRIA 100 ¥UT H ot 3R U9 TR 20 Ufa=rd a1 SR IR 80 Uf=rd &1 arH T fohan| afe 98 T U 8k T
ORI 130 T0T H Serclt & SR U9 WR 80 Uf=rd 9uT URYd R 20 Ufa=rd &1 @y ferdr 8, @t O SR ORI &1 $dt 8 Yo (@ TH) favamT 82

Options :

1. % 65309
2. % 9030
3. % 7030
4. ¥ 77909

Question Number : 98 Question Id : 7773932398 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If (4x? —3y?):(2x*+ 5y*) = 12 : 19 then the value of X :y is:
Options :

1. % 25:9

2.%16:1

3.3:2

4. % 17:8

Question Number : 98 Question Id : 7773932398 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tfe (4x2 - 3y):2x2+ 5y)=12: 19 A x : y &l ATA &
Options :

1. % 25:9

2. % 16:1

3.9°3:2

4. % 17:8

Question Number : 99 Question Id : 7773932399 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Two companies A and B quote for a tender. On the tender opening day, A realizes that their quotes are in the ratio 7 : 4 and hence decreases its
price during negotiations to make it Rs. 1 lakh lower than B’s quoted price. b then realizes that the final quotes of the two were in the ratio of 3 :
4 respectively. What was the price at which ‘A’ won the bid?

Options :

1. % Rs. 7 lakhs
2. % Rs. 4 lakhs
3. % Rs. 3 lakhs
4. #® Rs. 1 lakhs

Question Number : 99 Question Id : 7773932399 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&l HHAAT A 3R B Ueh ¢8R & oY HICIH TN & | ¢8R P Ugd &7 HHIAT A &1 A1 81T & [ IAH!I HICI[ 7: 4 F U A &, 3R
39 YPHR JIddld & SR 98 U B IHd B B B B DHIcTH A 1 IR TG HH B AdT ¢ | B 1 dd J1d gidl & b Ui Hieq
UM 3: 4 P U | § | I8 T o1 AT ol TR “A” 3 &Yt Sfteft 2

Options :

1. % 799G ¥

2. % 4G ¥T

3. ¢ 3 AR 9T

4. % | M9 99T

Question Number : 100 Question Id : 7773932400 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Bhavesh is 18 years older than Anshul and 12 years younger than Chinmay. Four years hence, the ratio of the ages of Anshul and Chinmay will
be 3 : 5. What is the present age of Chinmay (in years)?

Options :
1. % 52
2. % 102
3. % 65



4.+ 71

Question Number : 100 Question Id : 7773932400 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

E)Tamggaﬁ 18 98 g7 3R g ¥ 12 98 BleT 31 IR 9Y aTe, 3ot 3R 7T Y 31 T 3UTd 3: 5 81| g &Y a9 31y (ot
87

Options :
1. % 52
2. %102
3. % 65
4. ¥ 71
Arithmetic Ability2
Group Number : 6
Group Id : 77739325
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
Arithmetic Ability2
Section Id : 77739398
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory

Number of Questions : 20



Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 777393115
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 7773932401 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a 140 Liter of mixture of milk and water, percentage of water is only 30 percent. The milkman gave 20 Liter of this mixture to a customer.
Then he added equal quantities of pure milk and water to the remaining mixture. As a result the respective ratio of milk and water in the mixture
became 2 : 1. What was the quantity of milk added?

Options :

1. ¥ 12 Liter
2. % 16 Liter
3. % 18 Liter
4. % 8 Liter

Question Number : 101 Question Id : 7773932401 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

140 e g IUT U & fH9or &, Uit &1 Ufa=id dad 30 Uia=Id € | 7aTa 39 fHeor & F 20 witex fHgyor fad ues &1 ¢ <a1 g | 99 98 aret

& U fHeyor & T A6 § Y g a1 U QT 8 1 S99 UROMH W9y HYor H g U7 O St HET H1 U 2 : 1 81 ol o | fyor &
UCHERIRIEIRENINRIEY

Options :

1. ¥ 127X
2. % 167X
3. % 18 7llex
4. % gllex

Question Number : 102 Question Id : 7773932402 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

If a sum was Rs. 12000 more than it actually was, the simple interest on it for 2 years would be Rs. 3600 more than it actually was. Find the
annual rate of interest.

Options :

1. # 20 percent
2. ¥ 15 percent
3. % 10 percent
4. % 25 percent

Question Number : 102 Question Id : 7773932402 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e FaeH &1 IR I R B A1 H 12000 BT TS GIelT, A 2 T9 o 1T 39 IR AURUT 161 ot TS H 3600 3D H g | AT
! MY &R 1A Pifod |

Options :

1. % 20 gfcrd
2. ¢ 15 Ufard
3. % 10 gfard
4. % 25 gfaerd

Question Number : 103 Question Id : 7773932403 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the compound interest on Rs. 12000 at 10 percent per annum for 6 months, if his interest is compounded quarterly.
Options :

1. ¥ Rs. 607.5

2. % Rs. 610.5

3. ¥ Rs. 880.5

4, % Rs.712.5

Question Number : 103 Question Id : 7773932403 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

12000 0T BT 10 IR ATND &R I 6 ATE BT Aehqieg SATS I DI, TG DT AT (o HTe! G B
Options :

1. ¥ 607.5 308

2. % 610.5 30

3. % 880.5 ¥UY

4. % 7125909

Question Number : 104 Question Id : 7773932404 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A person deposited a sum of Rs. 6000 in a bank at 5 percent per annum simple interest. Another person deposited Rs. 5000 at 8 percent per
annum compound interest. After two years, the difference of their interests will be:

Options :

1. % Rs. 230
2. % Rs. 232
3. # Rs. 832
4. % Rs. 600

Question Number : 104 Question Id : 7773932404 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS Ao AR TS TR 5 WA= Bt &R I T db T 6000 T STH 3l 5 | U 3= Hfad Ufd I8 dehgfeg SaTS 0 8 UfA=Id &1 &R ¥
5000 TUT STHT BT & | Gl I & §1¢, I7P TSIl BT 3icR IT:
Options :

1. % 230 300

Question Number : 105 Question Id : 7773932405 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

The simple interest on a sum of money at some rate for 3 years is Rs. 225 and the compound interest on the same sum of money and at the same
rate for 2 years is Rs. 153. Find the sum.

Options :

1. ¥ Rs. 1875
2. % Rs. 1775
3. #® Rs. 1975
4. % Rs. 2075

Question Number : 105 Question Id : 7773932405 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T AR W 3 T o o fpadl aR T IR0 &7l 225 ¥UF 3R I4T R T I AR W 2 I & oY Thgfa 1T 153 04 g 1 IR A
DI

Options :

1. ¥ 1875300

2. % 1775390

3. % 1975300

4. % 2075307

Question Number : 106 Question Id : 7773932406 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rahul goes to his office with 20 km/hr and reaches at 10 AM, next day he goes with 30 km/hr and reaches at 8 AM, but he wants to reach at 9
AM. What must be his speed ?

Options :

1. ¥ 24 km/hr
2. % 25 km/hr
3. % 27.5 km/hr
4. % 30 km/hr

Question Number : 106 Question Id : 7773932406 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Ed 20 Tt/ HeT o1 1A T 30 Hraferd Sfrdl § 3R Yag 10 o1 Ugadl 7, 3FTd a7 a8 30 Tt/ get o1 1fa ¥ Srar | 3R gag 8 a9
UgEdI 8, A1 98 g 9 91 UgaT I1gdl & | STB! a1 g1 Afey?

Options :

1. ¢ 24 fodt /g

2. % 25 foHl/ der

3. % 275 fopdl/ HaT

4. % 30 foodl /g

Question Number : 107 Question Id : 7773932407 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A man cycles at the speed of 8 km/hr and reaches office at 11 am and when he cycles at the speed of 12 km/hr he reaches office at 9 am. At what
speed should he cycle so that he reaches his office at 10 am?

Options :
1. % 7.8
2.% 8
3.996
4. % 12

Question Number : 107 Question Id : 7773932407 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T MTGH! 8 fpdlt/ deT ot i o Wigfohd aardT & SR Jag 11 991 Hriad Ugadl & 3R od ag 12 fha / ger &1 1fd ¥ Arsford aardr g
I 98 gaE 9 T BTy Ugadl g1 39 g i ¥ Arsford T a1t arfds 98 gag 10 §of 30 Sriag Ugd ofg?

Options :
1. # 7.8
2.% 8
3.9 9.6
4. % 12




Question Number : 108 Question Id : 7773932408 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two bullets were fired at a place at an interval of 35 minutes. A person approaching the firing point in his car hears the two sounds at an interval
of 33 minutes. The speed of sound is 330 m/s. What is the speed of car (in km/hr)?

Options :
1. ® 37.5
2. % 50
3. % 62.5
4. ¥ 72

Question Number : 108 Question Id : 7773932408 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

35 e & SIRTA IR U ST WR &l Tl Iars Ts | BN fdg &1 qRW 30+ SR T 3133 Th Afad &l @l &1 33 fiFe & siavra
R YA g | Ife @ o1 i 330 TA. § A IR &1 a1fq (e 7 ) w2

Options :

1. % 375

2. % 50

3. % 625

4.9 72

Question Number : 109 Question Id : 7773932409 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A alone can do a piece of work in 6 days and B alone in 8 days. A and B undertook to do it for Rs. 3200. With the help of C, they completed the
work in 3 days. How much is to be paid to C?

Options :

1. % Rs. 375
2. % Rs. 400
3. % Rs. 600
4. % Rs. 800



Question Number : 109 Question Id : 7773932409 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A DB TP B B 6 feT T T HR bl § 3R B b1 34 8 TG T R AR TIhai g1 A 3R B HTHR 39 3200 90 H 1 & ol TR
A CHI A A IFHE DI 3 AT R AR A &1 ¢ P foaa1 Y™ &A1 g

Options :

1. % 3753909
2. ¢ 400 T4
3. % 600 %04
4. % 800 3YY

Question Number : 110 Question Id : 7773932410 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If four evaluators can examine a certain number of answer books in 8 days by working 5 hours a day, then for how many hours a day would two
evaluators have to work in order to examine twice the number of answer books in 20 days?

Options :

1. ¥ 8 hours
2. * 7 hours
3. % 6 hours

4. % 9 hours

Question Number : 110 Question Id : 7773932410 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e IR Gediew-aaret = 8 fam A ufafea s € wm & te Rfda e o I g1l &1 geaicd & Ihd 8, dl 20 A A &l
TABAh Al DI IFD! QT TSAT H IR GRABTSHT BT G B & (ol Ufdfed fba- e B o1 gRT?

Options :

1. ¢ gdc

2. % 7%C

3. % 6Hc




4. % 9Ge

Question Number : 111 Question Id : 7773932411 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A work can be done by two workers Chirag and Deepak in 25 and 20 days respectively. Both the workers start doing the work together but due to
absence of their supervisor, Chirag works at 3/4th of its capacity and Deepak at 3/5th of its capacity. After some days, the supervisor come back
and they work at their full capacity and after that they take 6 days to complete the remaining work. How long the supervisor was absent?

Options :

2
7 = days
1.¥ 3

5 % 8 days

\ Gidays

4 % 8 % days

Question Number : 111 Question Id : 7773932411 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&l YfHT IR 3R U GRTHHRT: 25 3R 20 &A1 H TH S &1 I ol off Tebdl & | 1 4THS T 1 H1H HRAT & IR od g,
QAfe 37 JURATSOR B U & HRUT, FoRIT SO & & 3/4 o T 3R U SU-T & & 3/5 S YT 1 & J HTH R G|
$3 el & 91, YURATZoR a1 3Td1 g 3R 3 370 I3 & ¥ 6TH B g 3R 3P d1¢ 3 AY HH R I H 6 A T €1 fva
fa TP JURATSOR U X2

Options :

?gﬁ?r

1. ¢

, « 8



6 e

3 3

82 fe
4.% 03

Question Number : 112 Question Id : 7773932412 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sides of a triangle are in the ratio 1/2:1/3:1/4. If the perimeter of the triangle is 52 cm, the length of the smallest side is :
Options :

1. % 24 cm

2. % 10cm

3.9 12 cm

4. % 9cm

Question Number : 112 Question Id : 7773932412 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T YT & YSTafl & 1/2:1/3:1/4 BT 3IUTd § | Tfe Y BT uRATT 52 T €, T Ta Bt Yol &I 015 o
Options :

1. % 24 At

2. % 10 A

3. 1294

4. % o gl

Question Number : 113 Question Id : 7773932413 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A regular polygon is inscribed in a circle. If a side subtends an angle of 36 Degree at the centre, then find the number of sides of the polygon .



Options :
1. %5
2.910
3. % 12
4. %9

Question Number : 113 Question Id : 7773932413 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS GHIGYS [l I & 3 1 5, Afe SHD! T Yol 5 UR 36° BT HIVT G ©, T SgYS & YSIIaN BI WeAT J1d Hiforg|
Options :

l.#5

2.¥10

3. % 12

4.%9

Question Number : 114 Question Id : 7773932414 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A water tank is 6 m long, 5 m broad and 3.4 m high. Find the capacity of the tank in litres.
Options :

1. % 82000 litre

2. % 102000 litre

3. % 122000 litre

4. % 62000 litre

Question Number : 114 Question Id : 7773932414 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS UM 1 bl 6 Hick dall, 5 Hiex ISt 3R 3.4 Hiex St 81 <fiex A 6 ot eHaT I1d Fifore|
Options :

1. % 82000 §lcx



2. ¥ 102000 §IcR
3. % 122000 €I}
4. % 62000 §lcx

Question Number : 115 Question Id : 7773932415 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the lateral surface area of the frustum of a cone having its top radius, radius of the base and slant height equal to 12 cm, 15 cm and 8 cm.
respectively.

Options :

1. ¥ 2167 sq. cm
2. # 1047 sq. cm
3. % 176m sq. cm
4. % 2321 sq. cm

Question Number : 115 Question Id : 7773932415 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH P & f5d® &1 ah JF &% d 1d Sitod, fore! 3 B, SR &t fBsar ik ket St R 12 9, 15 I iR s It &
RER B
Options :

1. ¢ 2160 O THI
2. % 104n I IHI
3. % 176n O OHI
4. % 2307 7 AT

Question Number : 116 Question Id : 7773932416 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Study the following pie-chart and answer the question.



Monthly expenditure of Mr. Kiran
under different heads

What is the respective ratio of the expenditure spent on rent and tax together to the expenditure spent on food and transport together?
Options :

1. % 3:4
2.% 4:3
3.¥5:6
4. % 6:5

Question Number : 116 Question Id : 7773932416 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFufafad ug-arc o1 3o FITT 3R U T IR ST
fafaea #er ut Ar fooa & anfae =ag




fPRTT 3R R WR T 1Y o T oo T Hioi 3R gRkag= R U 91 fhd 7T o 1 A SJ0Td 31 82
Options :
1.%3:4
2.%4:3
3.95:6
4. % 6:5

Question Number : 117 Question Id : 7773932417 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Study the following pie-chart and answer the question.

Monthly expenditure of Mr. Kiran
under different heads

What is the difference between the expenditure spent on education and transport if the total expenditure spent is Rs. 28,0007
Options :

1. ¥ Rs. 3,120

2. % Rs. 5,240

3. ¥ Rs. 9,360

4. ¥ Rs. 7,700

Question Number : 117 Question Id : 7773932417 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fRofeRad UE-TTe o1 3eaT HIT 3R U BT IR <o
fafaes @1y uT A fopeer o nfis =3

e 3R ufvae IR fobu U og & off 3fcR 1 § Ife it = 28,000 ¥ §2

Options :

1. % 3,120 %99
2. % 5240 %0Y
3. % 9360 3UY
4. ¥ 7,700 3T

Question Number : 118 Question Id : 7773932418 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The number of people who visited five different theaters, on 26 January, 2019, and the percentage breakup of men, women and children.



Theatre | Total Percentage break - up
MNo. of
people

Men Women | Children

P 6400 24 36 40

Q 5600 30 60 10

R 1680 85 15 0

S 7640 25 55 20

T 8040 35 20 45

Find the total number of children who visited any of the five theatres.
Options :

1. ¥ 8266

2. % 8466

3. % 8626

4. % 8866

Question Number : 118 Question Id : 7773932418 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

26 STHART 2019 DI UTE S-S RIAHATERT T S aTal & ST aUT oo, Afgaraii iR s &1 ufd=rd faaru|

fyaarer | o & ufarer feravor
&r
=
T A =
P 6400 24 36 40
Q 5600 30 60 10
R 1680 85 15 0
S 7640 25 55 20
T 8040 35 20 45

gra REATER # o aTd 9t S &1 $d e J1d HITog |

Options :



1. ¥ 8266
2. ® 8466
3. ® 8626
4. % 8866

Question Number : 119 Question Id : 7773932419 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The number of people who visited five different theaters, on 26 January, 2019, and the percentage breakup of men, women and children.

Theatre | Total Percentage break - up
No. of
people

Men | Women | Children

P 5400 24 36 40

Q 5600 30 60 10

R 1680 85 15 0

5 7640 25 55 20

T 8040 35 20 45

What is the difference between the number of men who visited theatre R and the number of women who visited theatre T?

Options :
1. % 120
2. % 140
3. % 160
4.+ 180

Question Number : 119 Question Id : 7773932419 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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P 6400 24 36 40
Q 5600 30 60 10
R 1680 85 15 0
5 7640 25 55 20
T 8040 35 20 45
RFATER R & ST aTe TSN &1 ST 3R RAHTER T H o4 aTel Afgenai ! S § 3R &1 82
Options :
1. % 120
2. % 140
3. % 160
4.9 180

Question Number : 120 Question Id : 7773932420 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Study the following graph and answer the given question.

Number of Students Playing Football, Cricket and Hockey from five Different School.
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If out of the students playing Cricket from schools A, C and E 35 percent, 40 percent and 45 percent respectively changed their game, then what
was the total number of students playing cricket changed their game from these schools together?

Options :
1. # 608
2. % 540
3.¥ 512
4. % 484

Question Number : 120 Question Id : 7773932420 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fRgfeRad a1 &1 3= HIfvTE 3R faT U Uy &1 IR S|

Ui STHT-3TT W d § Beald, fhdre 3R gid! War ara 3E1 &1 S|




a00
575

600 520
400

200

"geter ® febe ¥ g

o N Y Y

i Wpdl A, C 3R E ¥ fhdbe W ara SE & J HHSE: 35 Ua=rd, 40 Ta=rd 3R 45 Ufa=rd 3 o1 @d sqd fean, d fbde Wam a
BT 1 Pl ST 1 A, Forgi 371 Wl ¥ S{UHT dd dad ferm

Options :
1. #® 608
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General English1

Section Id : 77739399
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 777393116
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 7773932421 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, some parts of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select No Error.

The very first step in recruitment process is to determine whether a need for recruitment actually exist or not.
Options :

1. #* The very first step in recruitment process

2. % is to determine whether a need for

3. ¥ recruitment actually exist or not.

4. * No Error

Question Number : 121 Question Id : 7773932421 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, some parts of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select No Error.

The very first step in recruitment process is to determine whether a need for recruitment actually exist or not.
Options :



1. # The very first step in recruitment process
2. # is to determine whether a need for

3. ¥ recruitment actually exist or not.

4. % No Error

Question Number : 122 Question Id : 7773932422 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, some parts of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select No Error.

Comparisons between the expected level of performance specifying and the current level of performance exhibited may indicate discrepancies.
Options :

1. # Comparisons between the expected level of

2. ¥ performance specifying and the current level of performance exhibited

3. ® may indicate discrepancies.

4. % No Error

Question Number : 122 Question Id : 7773932422 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, some parts of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select No Error.

Comparisons between the expected level of performance specifying and the current level of performance exhibited may indicate discrepancies.
Options :

1. # Comparisons between the expected level of

2. % performance specifying and the current level of performance exhibited

3. % may indicate discrepancies.

4. # No Error

Question Number : 123 Question Id : 7773932423 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

In the following question, some parts of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select No Error.

For an organization, provide the right training to the right people can aid to create and maintain a well-trained and stable work force.
Options :

1. ¥ For an organization, provide the right training

2. % to the right people can aid to create and

3. % maintain a well-trained and stable work force.

4. ® No Error

Question Number : 123 Question Id : 7773932423 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, some parts of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select No Error.

For an organization, provide the right training to the right people can aid to create and maintain a well-trained and stable work force.
Options :

1. ¥ For an organization, provide the right training

2. % to the right people can aid to create and

3. ® maintain a well-trained and stable work force.

4. ® No Error

Question Number : 124 Question Id : 7773932424 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, four sentences are given out of which three sentences are grammatically correct while one is incorrect. Find out which
sentence is grammatically incorrect and select the appropriate option.

Options :
1. ® A physics teacher accepts the data from a student’s experiment but questions the student’s conclusions.
2. % An astronomer provides additional observations to support another astronomer’s theory.

3. ¥ A cook revises a traditional recipe by substituting modern ingredients for those using in the original.



4. ®% A doctor prescribes medication for a patient whose illness was misdiagnosed by another doctor.

Question Number : 124 Question Id : 7773932424 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, four sentences are given out of which three sentences are grammatically correct while one is incorrect. Find out which
sentence is grammatically incorrect and select the appropriate option.

Options :

1. # A physics teacher accepts the data from a student’s experiment but questions the student’s conclusions.
2. # An astronomer provides additional observations to support another astronomer’s theory.

3. ¥ A cook revises a traditional recipe by substituting modern ingredients for those using in the original.

4. ®% A doctor prescribes medication for a patient whose illness was misdiagnosed by another doctor.

Question Number : 125 Question Id : 7773932425 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, four sentences are given out of which three sentences are grammatically correct while one is incorrect. Find out which
sentence is grammatically incorrect and select the appropriate option.

Options :

1. # National service and taxation do not require that citizens be forced to accept both.

2. # National service and taxation are at odds with the notion of individual rights in a democracy.
3. ¥ National service and taxation requires different degrees of sacrifice from different citizens.

4. ® National service and taxation allow the government to overstep its boundaries and interfere in the lives of citizens.

Question Number : 125 Question Id : 7773932425 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, four sentences are given out of which three sentences are grammatically correct while one is incorrect. Find out which
sentence is grammatically incorrect and select the appropriate option.

Options :
1. #® National service and taxation do not require that citizens be forced to accept both.
2. # National service and taxation are at odds with the notion of individual rights in a democracy.

3. ¥ National service and taxation requires different degrees of sacrifice from different citizens.



4. # National service and taxation allow the government to overstep its boundaries and interfere in the lives of citizens.

Question Number : 126 Question Id : 7773932426 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select ‘No
improvement’.

By the age 7, children should be able to reading and write simple words and structure simple sentences.
Options :

1. ¥ to read and write

2. # to reading and writing

3. #* to read and writing

4. ¥ No improvement

Question Number : 126 Question Id : 7773932426 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select ‘No
improvement’.

By the age 7, children should be able to reading and write simple words and structure simple sentences.

Options :

1. ¥ to read and write

2. % to reading and writing
3. # to read and writing

4. ¥ No improvement

Question Number : 127 Question Id : 7773932427 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select ‘No
improvement’.



Humans cannot generating or hearing the high frequency sound waves generated by bats.
Options :

1. #® cannot generate or hearing
2. % cannot generate or hear
3. # cannot generating or hear

4. ¥ No improvement

Question Number : 127 Question Id : 7773932427 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select ‘No
improvement’.

Humans cannot generating or hearing the high frequency sound waves generated by bats.
Options :

1. # cannot generate or hearing

2. % cannot generate or hear

3. # cannot generating or hear

4. % No improvement

Question Number : 128 Question Id : 7773932428 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select ‘No
improvement’.

If you want your daughter to have good manners, make sure she see you be polite to others.
Options :

1. #® she saw you be polite
2. # she seeing you polite
3. % she sees you being polite to

4. ¥ No improvement



Question Number : 128 Question Id : 7773932428 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select ‘No
improvement’.

If you want your daughter to have good manners, make sure she see you be polite to others.

Options :

1. #* she saw you be polite

2. % she seeing you polite

3. ¥ she sees you being polite to

4. ¥ No improvement

Question Number : 129 Question Id : 7773932429 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select ‘No
improvement’.

He read the letter, then with a face of anger, crumpled it up and threw it on the ground.

Options :

1. % crumpled it up and throw it
2. % crumple it up and throw it
3. % crumpling up and throw it

4. ¥ No improvement

Question Number : 129 Question Id : 7773932429 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select ‘No
improvement’.

He read the letter, then with a face of anger, crumpled it up and threw it on the ground.




Options :

1. % crumpled it up and throw it
2. % crumple it up and throw it
3. % crumpling up and throw it

4. ¥ No improvement

Question Number : 130 Question Id : 7773932430 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

She stumbled out of the way just as she heard the voice, sounding irritated.
Options :
1. ¥ quite
2. # quiet
3. % utter
4. % well

Question Number : 130 Question Id : 7773932430 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

She stumbled out of the way just as she heard the voice, sounding irritated.
Options :
1. ¥ quite
2. % quiet
3. % utter
4. % well

Question Number : 131 Question Id : 7773932431 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the most appropriate option to fill in the blank.

Winter is the best time to tackle big projects in the garden such as digging up a new garden bed.
Options :

1. # this

2. ¥ those

3. # that

4. # there

Question Number : 131 Question Id : 7773932431 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

Winter is the best time to tackle big projects in the garden such as digging up a new garden bed.
Options :

1. # this

2. ¥ those

3. # that

4. % there

Question Number : 132 Question Id : 7773932432 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

From what he could hear, there was now extra voice singing along with the music.
Options :

1. # the

2. % a

3.% an

4. % No article is needed



Question Number : 132 Question Id : 7773932432 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

From what he could hear, there was now extra voice singing along with the music.
Options :

1. # the

2. % a

3.% an

4. # No article is needed

Question Number : 133 Question Id : 7773932433 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

I am unable to open a window in my house as swarms of blue flies come in just a window is open.
Options :

1. * no sooner

2. % nevertheless

3. # 50 that

4. % as soon as

Question Number : 133 Question Id : 7773932433 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

I am unable to open a window in my house as swarms of blue flies come in just a window is open.
Options :
1. * no sooner

2. % nevertheless



3. #* 5o that

4. % as soon as

Question Number : 134 Question Id : 7773932434 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Parts of a sentence have been jumbled up. Arrange these parts in a meaningful order.

A. The timing of the Covid-19 outbreak
B. could not have been

C. and the subsequent lockdown in India
D. worse for the agricultural economy

Options :

1. ¥ ACBD
2. % ABCD
3. % ADBC
4. % ACDB

Question Number : 134 Question Id : 7773932434 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Parts of a sentence have been jumbled up. Arrange these parts in a meaningful order.

A. The timing of the Covid-19 outbreak
B. could not have been

C. and the subsequent lockdown in India
D. worse for the agricultural economy

Options :

1. ¥ ACBD
2. % ABCD
3. % ADBC
4. % ACDB

Question Number : 135 Question Id : 7773932435 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Parts of a sentence have been jumbled up. Arrange these parts in a meaningful order.

A. to the age when sleek and compact form

B. We have travelled a long road from the times when

C. with powerful performance is the custom

D. mobile phones would resemble the size of a medium-sized box with little processing power

Options :

1. ¥ BACD
2. ¥ BDAC
3. % BCAD
4. % BCDA

Question Number : 135 Question Id : 7773932435 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Parts of a sentence have been jumbled up. Arrange these parts in a meaningful order.

A. to the age when sleek and compact form

B. We have travelled a long road from the times when

C. with powerful performance is the custom

D. mobile phones would resemble the size of a medium-sized box with little processing power

Options :

1. ¥ BACD
2. ¥ BDAC
3. % BCAD
4. % BCDA

Question Number : 136 Question Id : 7773932436 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Arrange the jumbled sentences to make a meaningful paragraph.

A. Shoppers stood in the aisles and pondered: Should I buy that mint-flavored toothpaste, or the one fortified with calcium?



B. Today, fights are breaking out over the last bottle of hand-wash.
C. Once upon a time, shelves of shopping malls used to brim with goodies.
D. Or is the muesli with chopped bananas and dried figs better than the one with dates and raisins?

Options :

1. % CABD
2. % CBAD
3. ¥ CADB
4. % CDAB

Question Number : 136 Question Id : 7773932436 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Arrange the jumbled sentences to make a meaningful paragraph.

A. Shoppers stood in the aisles and pondered: Should I buy that mint-flavored toothpaste, or the one fortified with calcium?
B. Today, fights are breaking out over the last bottle of hand-wash.

C. Once upon a time, shelves of shopping malls used to brim with goodies.

D. Or is the muesli with chopped bananas and dried figs better than the one with dates and raisins?

Options :

1. % CABD
2. % CBAD
3. ¥ CADB
4. % CDAB

Question Number : 137 Question Id : 7773932437 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Arrange the jumbled sentences to make a meaningful paragraph.

A. Some of their behaviour is silly, but a lot of it is downright dangerous, not just to themselves but to everyone else.
B. It also brings to the surface many people who choose not to act in the larger interests of society.

C. We see them in our newspaper headlines, in public spaces and in our own neighbourhoods.

D. A crisis like Coronavirus brings to the fore many heroes, people going out of their way to help others selflessly.
Options :

1. ¥ DABC



2. % DBAC
3. ¥ DCBA
4. ¥ DBCA

Question Number : 137 Question Id : 7773932437 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Arrange the jumbled sentences to make a meaningful paragraph.

A. Some of their behaviour is silly, but a lot of it is downright dangerous, not just to themselves but to everyone else.
B. It also brings to the surface many people who choose not to act in the larger interests of society.

C. We see them in our newspaper headlines, in public spaces and in our own neighbourhoods.

D. A crisis like Coronavirus brings to the fore many heroes, people going out of their way to help others selflessly.

Options :

1. ¥ DABC
2. % DBAC
3. ¥ DCBA
4. ¥ DBCA

Question Number : 138 Question Id : 7773932438 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym of the given word.

Stimulate
Options :

1. ¥ Encourage
2. # Demoralize
3. % Postpone
4. # Frighten

Question Number : 138 Question Id : 7773932438 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym of the given word.

Stimulate
Options :

1. ¥ Encourage
2. # Demoralize
3. % Postpone
4. # Frighten

Question Number : 139 Question Id : 7773932439 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correct pair of homophones to fill in the blanks.

The chicken is seasoned with a blend of jalapeno, cayenne, , and black and white pepper.
The moon was about a half off its regular size and the weather was and unpleasant.
Options :

1. % chilli ; chilli

2. % chilli ; chilly
3. % chilly ; chilli
4. % chilly ; chilly

Question Number : 139 Question Id : 7773932439 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correct pair of homophones to fill in the blanks.

The chicken is seasoned with a blend of jalapeno, cayenne, , and black and white pepper.
The moon was about a half off its regular size and the weather was and unpleasant.
Options :

1. % chilli ; chilli



2. ¢ chilli ; chilly
3. % chilly ; chilli
4. % chilly ; chilly

Question Number : 140 Question Id : 7773932440 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym of the given word.

Distort

Options :

1. # Persevere

2. % Bottleneck
3. ¥ Misrepresent

4, % Decelerate

Question Number : 140 Question Id : 7773932440 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym of the given word.

Distort

Options :

1. # Persevere

2. # Bottleneck
3. ¥ Misrepresent

4. % Decelerate
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Question Number : 141 Question Id : 7773932441 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate antonym of the given word.

Exquisite
Options :

1. * Graceful
2. # Torturous
3. #* Piercing
4. ¥ Tactless
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Question Number : 141 Question Id : 7773932441 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate antonym of the given word.

Exquisite
Options :

1. # Graceful
2. # Torturous
3. % Piercing
4. ¥ Tactless

Question Number : 142 Question Id : 7773932442 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate antonym of the given word.

Savage
Options :

1. ¥ Refined

2. # Repulsive
3. % Distinctive

4. % Enormous

Question Number : 142 Question Id : 7773932442 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate antonym of the given word.

Savage
Options :
1. ¥ Refined



2. # Repulsive
3. #® Distinctive

4. % Enormous

Question Number : 143 Question Id : 7773932443 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the incorrectly spelt word.
Options :

1. # Enchanting

2. ¥ Nutritiouse

3. % Pleasurable

4. % Frolicsome

Question Number : 143 Question Id : 7773932443 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the incorrectly spelt word.
Options :

1. ¥ Enchanting

2. % Nutritiouse

3. % Pleasurable

4. % Frolicsome

Question Number : 144 Question Id : 7773932444 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the incorrectly spelt word.
Options :

1. # Domesticated

2. % Murderous

3. % Ferrocious



4. # Displeasing

Question Number : 144 Question Id : 7773932444 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the incorrectly spelt word.
Options :

1. # Domesticated

2. # Murderous

3. % Ferrocious

4. # Displeasing

Question Number : 145 Question Id : 7773932445 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the incorrectly spelt word.
Options :

1. ¥ Enlargement

2. % Consolidation

3. # Diminutive

4. ¥ Aproximation

Question Number : 145 Question Id : 7773932445 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the incorrectly spelt word.
Options :

1. * Enlargement

2. % Consolidation

3. % Diminutive

4. ¥ Aproximation



Question Number : 146 Question Id : 7773932446 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the incorrectly spelt word.
Options :

1. ¥ Apprehention

2. % Converging

3. # Contradictory

4. % Rebellious

Question Number : 146 Question Id : 7773932446 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the incorrectly spelt word.
Options :

1. ¥ Apprehention

2. % Converging

3. # Contradictory

4. % Rebellious

Question Number : 147 Question Id : 7773932447 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the underlined idiom in the given sentence.

If you lend me a hand, I can get this done much faster.
Options :

1. % To borrow

2. % To help

3. % To control

4. % To direct



Question Number : 147 Question Id : 7773932447 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the underlined idiom in the given sentence.

If you lend me a hand, I can get this done much faster.

Options :

1. # To borrow
2. % To help

3. % To control
4. # To direct

Question Number : 148 Question Id : 7773932448 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the underlined idiom in the given sentence.

Cross your fingers that this is the package we've been waiting for.
Options :

1. * To make a decision

2. # To change one’s plans

3. % To hope for good luck

4. % To continue to work

Question Number : 148 Question Id : 7773932448 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the underlined idiom in the given sentence.

Cross your fingers that this is the package we've been waiting for.
Options :
1. # To make a decision

2. # To change one’s plans



3. % To hope for good luck

4. % To continue to work

Question Number : 149 Question Id : 7773932449 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the underlined idiom in the given sentence.

We need to turn up the heat on those guys so that they finally pay their debt to us.

Options :

1. # To be extremely caring
2. # To have a chance

3. # To convince to act

4. ¥ To pressurize someone

Question Number : 149 Question Id : 7773932449 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the underlined idiom in the given sentence.

We need to turn up the heat on those guys so that they finally pay their debt to us.

Options :

1. #® To be extremely caring
2. # To have a chance

3. # To convince to act

4. ¥ To pressurize someone

Question Number : 150 Question Id : 7773932450 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Chuck something down



Options :

1. ¥ To eat something quickly
2. # To erase the evidence

3. % To forget to pay

4. # To be careful

Question Number : 150 Question Id : 7773932450 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Chuck something down
Options :

1. ¥ To eat something quickly
2. % To erase the evidence

3. % To forget to pay

4. % To be careful

Question Number : 151 Question Id : 7773932451 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Swim with sharks

Options :

1. # To be greedy

2. % To be involved with dangerous people
3. # To undertake a risk

4. % To lack the know-how

Question Number : 151 Question Id : 7773932451 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the most appropriate meaning of the given idiom.

Swim with sharks

Options :

1. # To be greedy

2. ¥ To be involved with dangerous people
3. % To undertake a risk

4. # To lack the know-how

Question Number : 152 Question Id : 7773932452 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the group of words given.

An expert in or student of the scientific study of plants.
Options :

1. # Zoologist

2. % Ecologist

3. ¥ Botanist

4. % Biologist

Question Number : 152 Question Id : 7773932452 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the group of words given.

An expert in or student of the scientific study of plants.
Options :

1. # Zoologist

2. # Ecologist

3. ¥ Botanist

4. % Biologist



Question Number : 153 Question Id : 7773932453 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the group of words given.

The arrangement of events or dates in the order of their occurrence.
Options :

1. # Ichthyology

2. % Demonology

3. % Etiology

4. ¥ Chronology

Question Number : 153 Question Id : 7773932453 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the group of words given.

The arrangement of events or dates in the order of their occurrence.
Options :

1. # Ichthyology

2. % Demonology

3. % Etiology

4. ¥ Chronology

Question Number : 154 Question Id : 7773932454 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the group of words given.

The art or practice of garden cultivation and management.
Options :
1. ¥ Horticulture

2. % Floriculture



3. # Viticulture

4. % Arboriculture

Question Number : 154 Question Id : 7773932454 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the group of words given.

The art or practice of garden cultivation and management.
Options :

1. ¥ Horticulture

2. # Floriculture

3. % Viticulture

4. % Arboriculture

Question Number : 155 Question Id : 7773932455 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the group of words given.

A tightrope walker.
Options :

1. % Contortionist
2. ¥ Funambulist

3. # Etiologist

4. #® Etymologist

Question Number : 155 Question Id : 7773932455 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the group of words given.

A tightrope walker.



Options :

1. # Contortionist
2. ¥ Funambulist
3. * Etiologist

4. # Etymologist

Sub-Section Number : 2
Sub-Section Id : 777393118
Question Shuffling Allowed : Yes

Question Id : 7773932456 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (156 to 160)

Read the passage carefully and select the best answer to each question out of the given four alternatives.

Not only is the Universe stranger than we think, it is stranger than we can think. A particle accelerator is a machine that uses electromagnetic
fields to propel charged particles to very high speeds and energies, and to contain them in well-defined beams. Large accelerators are used for
basic research in particle physics. The largest accelerator currently operating is the Large Hadron Collider near Geneva, Switzerland, operated by
CERN. Other powerful accelerators are KEKB at KEK in Japan, RHIC at Brookhaven National Laboratory in New York and, formerly, the
Tevatron at Fermilab, Batavia, Illinois.

Accelerators are also used as synchrotron light sources for the study of condensed matter physics. Smaller particle accelerators are used in a wide
variety of applications, including particle therapy for oncological purposes, radioisotope production for medical diagnostics, ion implanters for
manufacture of semiconductors, and accelerator mass spectrometers for measurements of rare isotopes such as radiocarbon. There are two basic
classes of accelerators: electrostatic and electrodynamic (or electromagnetic) accelerators. Electrostatic accelerators use static electric fields to
accelerate particles. A small-scale example of this class is the cathode ray tube in an ordinary old television set.

The achievable kinetic energy for particles in these devices is determined by the accelerating voltage, which is limited by electrical breakdown.
Electrodynamic or electromagnetic accelerators, on the other hand, use changing electromagnetic fields (either magnetic induction or oscillating
radio frequency fields) to accelerate particles. Since in these types the particles can pass through the same accelerating field multiple times, the
output energy is not limited by the strength of the accelerating field. This class, which was first developed in the 1920s, is the basis for most
modern large-scale accelerators.

Sub questions

Question Number : 156 Question Id : 7773932457 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



According to the passage a particle accelerator contains the charged particles in which form?
Options :

1. * in the same forms

2. ¥ beams

3. % electromagnetic fields

4. % in the different forms

Question Number : 157 Question Id : 7773932458 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, the best example of a small-scale particle accelerator is:
Options :

1. ¥ cathode ray tube

2. # particle therapy in oncology

3. # ion implanters

4. % electromagnetic fields

Question Number : 158 Question Id : 7773932459 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some particle accelerators are used as synchrotron light sources, for which purpose(s)?
Options :

1. % oncological purposes

2. # radioisotope production

3. % condensed matter physics

4. % jon implanters

Question Number : 159 Question Id : 7773932460 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The powerful particle accelerator KEKB is in:
Options :

1. % Japan



2. #* Switzerland

3. ® Geneva

4. % America

Question Number : 160 Question Id : 7773932461 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The electrodynamic accelerators use which thing to accelerate particles?
Options :

1. #* magnetic induction

2. # oscillating radio frequency field

3. % cither of them

4. # both of them

Question Id : 7773932456 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (156 to 160)

Read the passage carefully and select the best answer to each question out of the given four alternatives.

Not only is the Universe stranger than we think, it is stranger than we can think. A particle accelerator is a machine that uses electromagnetic
fields to propel charged particles to very high speeds and energies, and to contain them in well-defined beams. Large accelerators are used for
basic research in particle physics. The largest accelerator currently operating is the Large Hadron Collider near Geneva, Switzerland, operated by
CERN. Other powerful accelerators are KEKB at KEK in Japan, RHIC at Brookhaven National Laboratory in New York and, formerly, the
Tevatron at Fermilab, Batavia, Illinois.

Accelerators are also used as synchrotron light sources for the study of condensed matter physics. Smaller particle accelerators are used in a wide
variety of applications, including particle therapy for oncological purposes, radioisotope production for medical diagnostics, ion implanters for
manufacture of semiconductors, and accelerator mass spectrometers for measurements of rare isotopes such as radiocarbon. There are two basic
classes of accelerators: electrostatic and electrodynamic (or electromagnetic) accelerators. Electrostatic accelerators use static electric fields to
accelerate particles. A small-scale example of this class is the cathode ray tube in an ordinary old television set.

The achievable kinetic energy for particles in these devices is determined by the accelerating voltage, which is limited by electrical breakdown.
Electrodynamic or electromagnetic accelerators, on the other hand, use changing electromagnetic fields (either magnetic induction or oscillating
radio frequency fields) to accelerate particles. Since in these types the particles can pass through the same accelerating field multiple times, the
output energy is not limited by the strength of the accelerating field. This class, which was first developed in the 1920s, is the basis for most
modern large-scale accelerators.



Sub questions

Question Number : 156 Question Id : 7773932457 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage a particle accelerator contains the charged particles in which form?
Options :

1. # in the same forms

2. ¥ beams

3. % electromagnetic fields

4. % in the different forms

Question Number : 157 Question Id : 7773932458 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, the best example of a small-scale particle accelerator is:
Options :

1. ¥ cathode ray tube

2. # particle therapy in oncology

3. # jon implanters

4. # electromagnetic fields

Question Number : 158 Question Id : 7773932459 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some particle accelerators are used as synchrotron light sources, for which purpose(s)?
Options :

1. # oncological purposes

2. # radioisotope production

3. % condensed matter physics

4. # jon implanters

Question Number : 159 Question Id : 7773932460 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The powerful particle accelerator KEKB is in:
Options :

1. ¥ Japan

2. # Switzerland

3. # Geneva

4. % America

Question Number : 160 Question Id : 7773932461 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The electrodynamic accelerators use which thing to accelerate particles?
Options :

1. #* magnetic induction

2. # oscillating radio frequency field

3. ¥ cither of them

4. # both of them
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Question Number : 161 Question Id : 7773932462 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e # 9 wrea &3 | -9 U303 82
Options :

1.¥ <

2.%

3. % g

4.% %

Question Number : 161 Question Id : 7773932462 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fRefead ® 9 <reg &30 | HIH-A1 YT &2
Options :

1.¥ Y

2.% &

3. % f4g

4. %%



Question Number : 162 Question Id : 7773932463 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fAEfaRed ¥ ¥ aH Yeg &1 994 BHIVIT:
Options :

1. % 3dcH

2. % 3Udg

3. % 3dle-l

4. % 3fAR

Question Number : 162 Question Id : 7773932463 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fAEfaRad H T a0 s &1 994 BHIfol:
Options :

1. # 3dcH

2.9 3Udiy

3. % Jdle-l

4. % AR

Question Number : 163 Question Id : 7773932464 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

' @ BT IRV R HEfiRad 7 8 =1 52
Options :

1. # dIiqg

2. ¥ &3

3. % qd

4. gt



Question Number : 163 Question Id : 7773932464 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

%' G BT ISR R FEfed 3 3 &1 g2
Options :

1. # diqg

2. ¥ 63

3. % qd

4.« Tt

Question Number : 164 Question Id : 7773932465 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fAefafed § T vsg So-Ro § HF-97 999 g2
Options :

1. #® d=Y JHY

2. % HUYRY U

3. % fgrauN

4. ¥ GG 9HN

Question Number : 164 Question Id : 7773932465 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fEfRed 7 Q Ieg SU-RIo H HH-97 9919 82
Options :

1. ® &Y A

2. % HHYRY A

3. % fgrau™

4. ¥ Gg 9y

Question Number : 165 Question Id : 7773932466 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

a3 T Yigarae I3 Usg HH-I1 82
Options :

1. % 3TN

2. % il

3. ¥ qERIEE

4. % g

Question Number : 165 Question Id : 7773932466 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Frefifed & 9 yidaTae I g $H-91 87
Options :

1. % SN

2. % diaT

3. ¥ HiPec

4. % Tg

Question Number : 166 Question Id : 7773932467 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o7 Ty BT ey FEfeRad & 2 feg I fadw 3 R0
Options :

1. % oo iy

2. % fawidfy

3. % QY

4. TR

Question Number : 166 Question Id : 7773932467 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

o7 Ty BT ey FEfeRad o 2 feg I fadw 3 R0
Options :

1. % oo iy

2. % fawidfy

3. % QY

4. TR

Question Number : 167 Question Id : 7773932468 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fAE=faRad O 9 fad=rer Wreg &1 99 Hifore-
Options :

1. % el

2. ¥ UI3sY

3. % Ydhl

4, ® Il

Question Number : 167 Question Id : 7773932468 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fRfefad # Y faqers <reg o1 99 HIfTT-
Options :

1. % Grere

2. ¥ I3sY

3. % Yadhl

4. % Icll

Question Number : 168 Question Id : 7773932469 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fAfRad B O eg & Yg U T I HiforT-
Options :

1. % JR=SAIRY

2. % YB3 RA

3. % faedaqRy

4. ¢ faeaTaqRe

Question Number : 168 Question Id : 7773932469 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fAEffed O T 2o & Y U BT I PIfoTT-
Options :

1. % JRSHAIRY

2. % YB3 RA

3. % foeaaqRy

4. ¢ T qRe

Question Number : 169 Question Id : 7773932470 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fffed & ¥ Yo 9 arel 2se &1 999 Sifv-
Options :

1. % fcifad

2. % SEMATd

3. ¢ AII9G

4. % AR

Question Number : 169 Question Id : 7773932470 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fEfeRed o @ Y ad-it aTel Teg &1 T Hfore-




Options :

1. % fcifad
2. % R
3. ¢ A9G
4. % rAREE

Question Number : 170 Question Id : 7773932471 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frfoRad & 9 U 7T Wreq-gv & Tg! 31-1g BT I0 Bifore-

ENEEN
Options :

1. ¥ S - b
2. % Y - 39
3. % Y - ol
4. % dlqcl - Y-l

Question Number : 170 Question Id : 7773932471 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f=foRed o 9 fau 7 2ree-g & T 31d-3g o1 T8 Hifor-

ENEENY
Options :

1. % Il - 9P
2. % Y - 3l
3. % Yqdh - ol
4. % §IGd - gel

Question Number : 171 Question Id : 7773932472 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

"IER" HT e Freg e #  PH-w1 32
Options :

1. * 3dH

2. ¥ U

3. % 3&d

4. % pdd

Question Number : 171 Question Id : 7773932472 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"IER" B faam Wea FEfRed § 3 HH-31 52
Options :

1. % 3dH

2. ¥ U

3. % 3&d

4. % pdd

Question Number : 172 Question Id : 7773932473 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFrfad & @ w1 fosier &1 vatgar g T8 82
Options :

1. % I

2. % Ifl

3. ¢ il

4. % TreTET

Question Number : 172 Question Id : 7773932473 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fAfRad 7 ¥ o19-a1 foorc &1 wataarh 2es 78t 82
Options :

1. ® e

2. % qIfe

3. ¢ Hidl

4. % Jre

Question Number : 173 Question Id : 7773932474 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAEfaRad & 9 foT U a1 & ol T Xieg, &1 99 Hifol-
O QI IR ST 31T IR hrdl

Options :

1. ¢ AU
2. % Thcfdh
3. % gfife
4, % 3SR

Question Number : 173 Question Id : 7773932474 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ffefaa o T faT 7T gty & fore Te X1eg &1 99 PifoTt-
R R TR ST 31T 9w fa=amg d &

Options :

1. ¢ U
2. % Tocdh
3. % gftfer
4, % 3SR



Question Number : 174 Question Id : 7773932475 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fefRad 7 ¥ "l &1 yafaae Xee SIH-91 82
Options :

1. % gat

2.9 9

3. % Qadl

4. % fIRT

Question Number : 174 Question Id : 7773932475 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFrefafed o & asdt &1 gaigard weg H1H-91 32
Options :

1. % gt

2.9 Y9

3. % Qadl

4. % IRy

Question Number : 175 Question Id : 7773932476 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ffoTREd & 9 31 a1 dTel Weq BT T BIfoIU-
Options :

1. IgY

2. % ghiq

3. % UEHdH

4. % YrATOTh

Question Number : 175 Question Id : 7773932476 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

=R o ¥ 3RS ad aTel Ueg o1 T BHITorg-
Options :

1. & IGY

2. % gUiq

3. % Yrd-dH

4. % QHIOMDG

Question Number : 176 Question Id : 7773932477 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frefeRad & 8 Sudad Treg &1 99 Bifert-
BT, CAREEIE]

Options :

|. % JdGN

2. % Y™

3. ¢ SRR JTG
4. % DRYRRO T

Question Number : 176 Question Id : 7773932477 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fr=faRad & I SWiad Xeg &1 T8 BifoTe-
ML, PRI

Options :

1. % gerdia™

2. % YR

3. ¢ SR U9IG

4. % TRYARRO T



Question Number : 177 Question Id : 7773932478 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR Y TS R gl f[haMe @R &' 39 a1 | [0 SR &1 fauldd &1 uanT foear T g2
Options :

1. % HH HRD

2. #® HHIQH RSP

3. ® JIY PRSP

4. « 3{UIqI- HRP

Question Number : 177 Question Id : 7773932478 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

W Y YT R ¢ AR QR & 59 I H [ sR &1 fqufda o1 i fasar i g2
Options :

1. % $HDRD

2. % JHIQH PRSP

3. % JIY PRD

4. % 3{UIqld HRP

Question Number : 178 Question Id : 7773932479 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fr=faRad @ 3§ foy o & SRIqEvars qa-TH &1 YA foar T g2
Options :

1. % THRTHIIG B

2. % TUHT TH FT 82

3. ¢ 31 9 &l ggi A 31371

4. % IRTWIMRIARI




Question Number : 178 Question Id : 7773932479 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FrfIRed & 9 forg a1 B SRIgEyaTad Fa-TH 6T TRINT a1 T 87
Options :

1. % qH RITHIIE 81

2. % ATUHT =TH FT 82

3.+ 39 Ut B ggi b STe |

4. % IRTW IMRIARI

Question Number : 179 Question Id : 7773932480 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fATfIRad & 9 giceivT Xreg &1 Ig- Pifore-
Options :

1. ¢ SHHME

2. % ARG

3. % i

4. ® foeht

Question Number : 179 Question Id : 7773932480 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
feferRed & giceiTt Wreg o1 =g Hifvie-
Options :

1. ¢ &M

2. % dRIE@

3. % Ul

4. % foeht

Question Number : 180 Question Id : 7773932481 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fFEfaRad § I SR1arasd a1dd BT g Hifoll-
Options :

1. % ¢ | TH U AR I U g1 |

2. % RO DR HH arad HH R ol |

3. % QMg 3T g 7 31U

4. ¥ eI HA gl

Question Number : 180 Question Id : 7773932481 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fEfoRad 7 O SeTara® d1ad &1 99 SHIfort-
Options :

1. % =g | gH Ugd R Y U g1 |

2. % RO SRR HA ard HH 8Rd Ta1|

3. % QMg 3T g 7 3T

4. ¢ eI S gl |
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Question Number : 181 Question Id : 7773932482 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fefafed o T Igaad s &1 9= Hifore-
Options :

1%

2.¥d

3. % dg

4. % Yo

Question Number : 181 Question Id : 7773932482 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fATfIRIT § ¥ Igaa Tsg BT ITH Pifort-
Options :

% H

2.¥d

3. % dg




4. % T8

Question Number : 182 Question Id : 7773932483 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feTfeTRad & U 9T & YDR b1 TG DIfoIT-
Ig b IS Sit b gRI §aTs T3 1|

Options :

1. % Hqard
2. % Y[ddryg
3. ¢ HHATA
4. % fopgrar

Question Number : 182 Question Id : 7773932483 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

=R O @ 91 & UDHR BT 9 DIfoTL-
g gD U3 SNt & gRI §-aTs 718 At

Options :

1. ® HgardA
2. % Yladrg
3. ¥ FHHAA
4. % fopgrar

Question Number : 183 Question Id : 7773932484 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFEfaRad ¥ O 919 & TSR &1 99 BHIfoTL-
e 39 9y quf = g3 o 9 &) wad v 8 S|




Options :

1. ¢ Oy ar

2. % Igod aIR

3. % IR I

4. % fqwqaTieaiysd arey

Question Number : 183 Question Id : 7773932484 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFEfaRad ¥ O 919 & TSR &1 99 BHIfoTL-
e 39 oy auf = g3 o 9 &) wad 9y 8 S|

Options :

1. ¢ Ty a1

2. % ggad a1

3. % RA dIH

4. % fourafeaiysd arR

Question Number : 184 Question Id : 7773932485 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I fear T g1 RAfafRd A A g sra w182
g g ST, af H e

Options :

1. % g yidwd
2. % g Hidwq
3. % 3 YdbId
4. ¥ gdeqHg Hidwrd

Question Number : 184 Question Id : 7773932485 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

I fear T g1 RAfafRd A A g sra w182
g g ST, af H e

Options :

1. % g Yidwq
2. % g Yiasad
3. % 3 YdDId
4. ¥ BIegHe Hidwd

Question Number : 185 Question Id : 7773932486 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f=feRad & O Y ! aTel a1a BT I BHifoTd-
Options :

1. % g gaT 9t s B

2. ¥ U I Y IGI g S|

3. % 3T I 3 H R 8T

4. % 3{U- ¢E DI WY W1 |

Question Number : 185 Question Id : 7773932486 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f=frRad & O Y a1 ATl a1 BT I BHifoTd-
Options :

1. ® g gHa1 931 3FRAT g |

2. ¢ g TR Y TgI Ig SIu|

3. % T P 3 H R 81 T

4. % U GF DI WY TG |

Question Number : 186 Question Id : 7773932487 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fr=fafad o I gerart Bxig gF &1 3 72
Options :

1. % T g dieT

2. ® THH DI HOH GH]

3. ¢ il SIR 1 A 361

4. % TR W gaN

Question Number : 186 Question Id : 7773932487 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fr=ferad & I gerart “Hig g1 &1 i 3 72
Options :

1. % o7 ga diaHl

2. % THA DI HOH G

3. ¢ ool SR &1 A @1

4. % QU TR HRI G

Question Number : 187 Question Id : 7773932488 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fefoRad & 9 forg gerar &1 o "fordht 1 Jos 0 R 3T HRAT" BIdT 82
Options :

1. % GHP YheTl

2. ¢ Y DI HaT B RE FbTd B b T

3. % AT 9rad SMIHE R |

4. % 3 o1 FE! @i ST

Question Number : 187 Question Id : 7773932488 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

frefoRRad & 9 foog gerar &1 o "forht 1 Jos 0 R 3T HRAT" I 82
Options :

1. % GHP YheTl

2. ¢ Y DI HaT B RE FbTd B b T

3. % QAT 9rad SMIHE R |

4. % 39 o1 FE! @i ST

Question Number : 188 Question Id : 7773932489 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f=ferfad o I qerart "eTs Sc Pt Afie &1 a1 31 82
Options :

1. ¢ Y T BT HIAT

2. % HAA BT

3. % YN BT Wd

4. % faui & 1St 4t Aee

Question Number : 188 Question Id : 7773932489 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR o ¥ TgTarT "STs 3¢ ! AfIG" &1 &1 31 87
Options :

1. ¥ &Y 3l DR Bl

2. % §HpUd g

3. % UG BT WA

4. % fauRy # YISt Wt veg

Question Number : 189 Question Id : 7773932490 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fmferRad & O fod Mevifad o1 31 Rey &1 7% 9 3if¥er Iafd w1 giar 82
Options :

1. % g P WA 3T I I8 R DI NP HNTAT &

2. % TR Al TG, ST Y ol ST

3. % TS g1 8T T3, g 9T 7T 3l

4. ¥ T3 T[S B1 Tg1, =l Wb 1 T

Question Number : 189 Question Id : 7773932490 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fefoRed o 9 foog deifad &1 i R &1 1% T 31fie I B BT 82
Options :

1. % g P WM 3T I I8 SR DI TR HITAT §

2. % T IQ G TG, STYAT ¢ ) SH-1G™

3. % T 81 QT TS, Wb WN 7T 3{dbvall

4. ¥ T3 T[S 81 g, el Udepx gl T

Question Number : 190 Question Id : 7773932491 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Aepifad "M & WA &1 fAfaRad & 9 @1 o1 g2
Options :

1. % 3O oI 37U BTY Bl g |

2. ¢ T dlt & U 3HTHd & U T 3T Py a%g T DR G|
3. % 309 R 1 TTeil-Alged H T8Iyl faar |

4. % Bt Wt o0 o 89 Uil 1 Scig ol SRl IMeT|

Question Number : 190 Question Id : 7773932491 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AP "3rHd H ward" o1 fFferiag & @ 3f g2




Options :

1. % 3O ST 30 BT et 5

2. ¢ fdlt & U SHTd & U H X8 Py avg T B G|
3. % 309 R 1 TTeN-Alg e H d8Igs] f[aam |

4. % {0 ft & A g1 HUiel &1 v I8! BT ARl

Question Number : 191 Question Id : 7773932492 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
i o T ooy Aowifad o1 3 "grTeT TR 3T 81 ST BlaT 82
Options :

1. % 3l & Uid ST 1 Hid |

2. % 3T Yol al ST M|

3. % g9 fadl ¥ ad =gl Mdberdn

4. ¢ 3T THR SHTC R Gl |

Question Number : 191 Question Id : 7773932492 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T & @ fod Aeifad o1 31 "SATST TR ST 1 ST Bl 672
Options :

1. % 3iey I Uid aTe bt Hid |

2. % 31T Hel ol ST Hel|

3. % 3 forell § o =181 Hperdr|

4. ¢ ST THR SHTC GR Gl |

Question Number : 192 Question Id : 7773932493 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FfRId o ¥ D1F-91 Al $1 Taferd ¥ 62

Options :



1. ¥ Yd WX TTGgl, AR W Sidgl|
2. % Wd WX gl IR TR g
3. % Ud TR TTGET, R QR SiergT|
4. % 9d TX T, IR WA &gl

Question Number : 192 Question Id : 7773932493 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fAafafRad 7 § o9-a1 e o1 vafad T u g2
Options :

1. ¢ Gd W T&gl, AR Wi gl |

2. % Wd WA el IR Wi gl

3. % Ud TR TTGET, R QR gl |

4. % Qd WX ggT, IR WX IgT|

Question Number : 193 Question Id : 7773932494 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAafaRad 7 9 = feu v 9o & 59 foms 1 v =) foan g2
YRdg ot A Fal, “fgal, g, @ "

Options :

1. % JeqfaR fag
2. % guUifaR™ fag
3. % IRV g

4.« qraq fog

Question Number : 193 Question Id : 7773932494 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafefad 7§ = feu v 9w # 59 foms &1 v =) fpan man g2



YRdg ot 4 Fal, “fgal, g, @ "

Options :

1. % Jeqfar fag
2. % goffor forg
3. % 3faavur g

4. 194 fag

Question Number : 194 Question Id : 7773932495 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

42 feu Tt gt ® fefefea & 3 g fos o1 v fesar man g2

a6 fha T YR =T B
Options :

1. % 3G fvm

2. % IU favH

3. % ¢Y =R forg
4. ¢ faumofeays fg

Question Number : 194 Question Id : 7773932495 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

= few v areu # fferaa ® 9 fg fas o1 uan far mar g
ag! fha T YR =T 7



Question Number : 195 Question Id : 7773932496 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

oTel fort Tec; T ST SR BT 3rfd STel aTed W1 -Te] gid, sfedp el avq sryar favg & IR § o oiran 8, 981 Fforiad 7 ¥ fey
forg &1 U o ST g2

Options :

1. ® quifaRd fog

2. ¢ JUfRM g

3. % 3feuiaR™ fasg
4. % AR fog

Question Number : 195 Question Id : 7773932496 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o for<il X1eq DI 31T SR 81 3UTd STg! aTed QX1 1o i, Sicdh foh! a%g 37T fawd o IR & §d1T 91T 8, 981 HraRad & 3 g
forg &1yt s T g2

Options :

1. # guifarH fag

2. ¢ IUfRM g

3. % IR g

4. % 3R g

Sub-Section Number : 2

Sub-Section Id : 777393121
Question Shuffling Allowed : Yes

Question Id : 7773932497 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (196 to 200)

T TeIi=1 1 SATYde e B Ul & IR SIfoTe-

Tl 1 95 % 9gd Fel ¢ o fa19ralt o fo1 Al 1 15, ored e g1l ¢ | 9 91 b1 Wit ofivT 61 , b SMTeTeieane o forg i,
g HIFRie WaFd IRHTGRG 2-aTe 9 Wdadl & SHH SR THa1 G &1 3d 8l 3R 918 98 9dl 81 9 S+ 81| 98 a1d o) Fiida &




fob Sl H7 HaTaTgdes Sitd Hcild BT I1edl 8, IHb [e1T I8 0T Sf-ard 7, Forad STef+Re ofrdit § SR forad 3 WRi o &7 @l
BT 31T ¢ | JaT HI T8 T FIRUT G A1eT foh 98 Igd HH a1d Sl ©, 3T a1 3G U 98 Jgd - § 31k 3P| ATHIE ISP
GdT J Fal 941 g5 o | 39 39 1d BT e W1 AT fob a8 310 §81 BT Y HY, Ble! 3R SRISR dlall § HIHedl &1 FaER HY, I
a1 3ferHalel & foft Sawae g | 98 URT U9R, Sl $3 81 § 3R Sl $© SHRI 5-8HRT IR, TART ST, TAR HFT, THR R 3R dTeR &I
R, GHAR Tgd-Y S0 TR TS TUI-H S8 91 B SIS YT B g 1 8H SHUHT SATHT P TH TG A3

AT | R YT Tsgue A el 8, g HRUr I gERY &1 He diehdl 8, Rrad ST Yabey &fivr 3R I Rl He, 81 e 3; g
HIRUI I8 3 T & THg Hi U I8aT1 § 3R 3R TS WR dc-Ue fohdl a1d &1 Fofg 98l % TehdT | TS &1 981 39P 30 g1 g1y |
2, 39 I8 I18 FOIeR o S| ==t 31T del 8, Sl U <=1 H, U fRufd & e 3rgt I8 3y RapTerdt g

Sub questions

Question Number : 196 Question Id : 7773932498 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ffefad & 9 «Igsdr & faelid 2sg &1 =T HifvTe-
Options :

1. = 3UdIl

2. % fears

3. % faurar

4.« FYdl

Question Number : 197 Question Id : 7773932499 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

JURIG TR &b TR GogU & HRUI A gl
Options :

1. % 3if¥e Y adr UTd ol g |

2. % AR U W A A Aofg A urar B

3. ¢ QR BT e diHhdl g

4. % AR MHIYdS e SIa1 8|

Question Number : 198 Question Id : 7773932500 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



ol & 9 Iwiad T & fou 3fad =i &1 9g7 Sifor-
Options :

1. ® TG ¥ gsyuA|

2. % YRING WaAdr

3. % Sfiaq U I ddl T Hed

4. ¢ fa9dI 1 7 |

Question Number : 199 Question Id : 7773932501 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SR T & ey 7 GerarT «Hg a1 &1 fFfeiad # 9 o1 orf g2
Options :

1. % Jgd STl T HRATI

2. IR IR 313 BT

3. % PHYIIW &l

4, % IR DA

Question Number : 200 Question Id : 7773932502 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SR T & TR AHTEHIET & forg Fofafad # 9 HH-31 a1d $1aas g2
Options :

1. % g8l BT M BT

2. % BIel 3R R 1! T HIHAAT BT TFER HAT|

3. ¢ TSI BT W BT, Bt 3R SRR ATl F DA Bl TdgR BT
4. % fagar ¥ fooddt T 91 T8 ST

Question Id : 7773932497 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (196 to 200)

AR eI o7 eaTyd e 31eaa R Ul & ST SIfoTg-



fIgTl &1 I8 HYU- 9gd U5 & & fa9ar & o1 Tl &1 DI 31U a1 8id1 5| 59 91 B! Gl a1 91d &, fob SR & g A1 gl-
§gd AT WaAdl IRATTAS §-d18 39 WaaAdl & STNHM 3R 75T GH1 &1 Ad 81 3R dTg a8 T9dT o1 3 37 8l | Ig a1d of Mg §
o S T~ HafaTgde Sita Sadid HRAT 18l 8, I fo a8 1T TR 3, fore s Ra sireft 8 8k o 3rua IR1 & ot @1
BT 3TdT 8 | JaT BI Tg TGl WRUT G A1y foh 98 Tgd HH §1d ST §, 30 &1 3G U 98 §gd 19 § 3R SUD! b 1T ITH|
TdT Y Fal 941 §s o | 39 39 §1d BT e 1 AT fob a8 310 §51 &1 Y HX, Blel 3R SRISR dTell ¥ Bl &1 FGER HY, A
Tl STt & AT SHTaRT® § | I8 IRT IR, Sl $3 89 § 3R Sl $3 §HRT 8-8ART IRR, TART SHTAT, TAR U1, TAR O 3R 98X Bi
G, TR Sgd-3 SHaTuT 3R AT UI-He 3 ST B! Al Ybe HRd g 1 o8 U ST D 15 3@ AT

AT Y BT AT Gogu | e 8, o RO AT gHRI &1 Hg bl 8, S I9bT Yooy &fiur 3R 39! Rl He 8 i 8; e
HRU T8 3T g & T i e Xga1 g R AR TS+ R dc-Uc {4l a1d &1 Fufg 81 o Tohdl | IS &1 98T 3D 3U- g1 g1y
8, 3U 98 TTe feR & SN | It 3111 981 B, S U g2 §, s fUfa & o9 oo+t W8 oy fAeeTerdt 31

Sub questions

Question Number : 196 Question Id : 7773932498 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fefeRad & 9 «Igsdr & faeli 2sg &1 TT BifvTe-
Options :

1. % 3Udl

2. % fgars

3. % fau

4. % FYdl

Question Number : 197 Question Id : 7773932499 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SIRIG T & IR Gegd- b HRUI A gl
Options :

1. % 3if¥res Y adr UTd w1 g |

2. % AR US4 W M T FAufg q urar g

3. ¢ I T Hg APl |

4. % ISR HHIYGD e ST 5|

Question Number : 198 Question Id : 7773932500 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fAfoiad # ¥ Iwiad T & fore Ifad 2ive o1 Ta= wifo-

Options :

3. % Sifaq H 9% adl BT Hed
4. ¢ f3T9d1 T U |

Question Number : 199 Question Id : 7773932501 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SWRIG TR & Y A GgTarT “Hg qdh-1r &1 fAmfaRad & & aar srf g2
Options :

1. % §gd SATG] =T BT

2. ¢ TR WR 3% BT

3. % HSI IR Tl

4. % R B

Question Number : 200 Question Id : 7773932502 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SR T & IR SHTerHaial & forg Fafafed # ¥ HH- ard smawas §2
Options :

1. % 8 BT qHH BT

2. % BT 3R RIS Tl Y HIHAT BT TTER BT

3. ¢ FS| ] G BT, Blel 3R SRISR ITdl T ST BT TaER HRAT|

4. % fo=gar 9 fobadt I 1 el BT




